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SEE 2074 (2018)
clgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fg
gof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|md

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6 k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer all the questions.)
;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ (Group 'A')

!=!=!=!=!= tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ . 15x1=15
Write short answer of the following questions.
a. Knjgsf] lgoddf cfwfl/t b'O{cf]6f pks/0fsf] gfd n]Vg'xf];\ .

Name two instruments that are based on the law of floatation.
b. ;"o{df x'g] Go'lSno/ k|ltlj|mofnfO{ kl/eflift ug'{xf];\ .

Define nuclear reaction that takes place in the Sun.
c. s'g} b'O{ ydf]{d]l6«s t/n kbfy{sf] gfd n]Vg'xf];\ .

Write the name of any two thermometric liquids.
d. n]G;sf] ;fdYo{sf] kl/efiff n]Vg'xf];\ . (Define power of lens.)
e. :6]k ck 6«fG;kmd{/ eg]sf] s] xf] < (What is step up transformer?)
f. k/df0f' pk;]nsf] cfwf/df kf]6fl;odsf] On]S6«f]g ljGof; n]Vg'xf];\ .

Write the electronic configuration of potassium in terms of sub-shell.
g. k|ltlj|mof/t kbfy{sf] uf9fkg / /f;folgs k|ltlj|mofaLr s:tf] ;DaGw 5 < n]Vg'xf];\ .

Write the relation between concentration of reactants and the rate of reaction.
h. cDnsf] kl/efiff n]Vg'xf];\ . (Define acid.)
i. rf“bLsf] kf/df0fljs ;+Vof / kf/df0fljs ef/ slt xf] <

What are the atomic number and atomic weight of silver?
j. /];d ls/fn] hLjgrj|msf] s'g r/0fdf /];d wfuf] agfp“5 <

In which stage of its life cycle does silkworm produce silk?
k. ;]/]a|f]:kfOgn k\mn'8 eg]sf] s] xf] < (What is cerebrospinal fluid?)
l. låtLo jfo'k|b"ifssf s'g} b'O{ pbfx/0fx? n]Vg'xf];\ .

Write any two examples of secondary air pollutants.
m. afx\o uef{wfg eg]sf] s] xf] < (What is external fertilization?)
n. d]08nsf] j+zf0f' k|;f/0f;DaGwL bf];|f] lgod n]Vg'xf];\ .

Write second law of Mendel's related to heredity.
o. tf/fk'~h eg]sf] s] xf] < (What is galaxy?)
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RE-111'AC' (2)
;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ (Group 'B') 13x2=26

@= lbOPsf] lrqdf Ps 6'j|mf 9'+ufnfO{ kfgLdf 8'afO{ hf]Vbf 9N / To;n]
lj:yflkt u/]sf] kfgLsf] tf}n 2N 5 eg],
In the given figure, weight of stone inside water is 9N and
water displaced by stone is 2N then,
i)  9'+ufsf] jf:tljs tf}n slt xf]nf < (What is the actual weight of stone?)
ii) of] k|of]u s'g l;4fGtdf cfwfl/t 5 <
     Which principle is this experiment based on?

#= jt{dfg ljZjdf hnljB't\sf] k|of]u a9\b} hfg'sf] s'g} b'O{cf]6f sf/0fx? n]Vg'xf];\ .
In the present world, the uses of hydroelectricity is increasing. Write any
two reasons.

$= pmhf{ ;ª\s6sf k|d'v sf/0fx? s]–s] x'g\ < s'g} b'O{cf]6f sf/0f n]Vg'xf];\ .
What are the main reasons of energy crisis? Write any two.

%= hf8f] dlxgfdf cf]5\ofgaf6 p7\g]lalQs} sf]7fsf] xfjf lr;f] nfUb5, t/ aflx/ uP/ kms{+bf
ToxL sf]7fsf] xfjf Gofgf] nfUb5, lsg <
In winter morning as soon as we wake up, the air inside the room is cold
but if we go out and return to the same room, we feel warm, why?

^= tnsf] On]S6«f]lgs ljGof; x]/L ;f]lwPsf k|Zgx?sf] pQ/ lbg'xf];\ M
Study the electronic configuration given below and answer the following:
A - 1S2, 2S22P6, 3S2             B - 1S2, 2S22P6, 3S23P5

i) tL tŒjx? (A / B) sf] gfd n]Vg'xf];\ . (Write the name of elements A and B.)
ii) oL b'O{ tŒjx?aLr x'g] /f;folgs k|ltlj|mofsf] ;Gt'lnt /f;folgs ;dLs/0f n]Vg'xf];\ .
Write the balanced chemical equation of chemical reaction occurs betwen
these two elements.

&= /f;folgs k|ltlj|mof;lxt pTk|]/sn] /f;folgs k|ltlj|mofnfO{ l56f] / l9nf] u/fpg] Ps–Ps
pbfx/0f lbg'xf];\ .
Write the example of each catalyst that accelerates and decelerates the
rate of chemical reaction along with the balanced chemical reaction.

*= cDnsf s'g} b'O{cf]6f u'0fx? n]Vg'xf];\ .  (Write any two properties of acid.)
(= cfNdf]lgodsf s'g} b'O{ u'0fx? n]Vg'xf];\ h;n] ubf{ o;nfO{ xjfO{hxfhsf] kf6{k'hf{ agfpg

k|of]u ul/G5 .
Write two properties of aluminium that make it suitable for building body
parts of the aeroplane.

!)= /];d ls/f a;]sf] lsDa'sf] af]6 crfgs d¥of] eg] /];d ls/fsf] hLjg rj|mdf s'g cj:yfnfO{
t'?Gt c;/ kb{5 < :ki6 kfg'{xf];\ .
Which stage in the lifecycle of silkworm will be affected immediately if
the mulberry bush dies suddenly? Clarify with reason.
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(3) RE-111'AC'
!!= lbOPsf] /QmgnLsf] klxrfg u/L A, B /  D efux?sf]

gfdfs/0f ug'{xf];\ .
Identify the blood vessel given and label the parts A, B
and D.

!@= efn] Uofd]6 / kf]yL Uofd]6aLr s'g} b'O{cf]6f km/sx? n]Vg'xf];\ .
Write any two differences between male and female gamete in two points.

!#= d]G8nn] cfkm\gf] k|of]u s]/fpafx]s Eofu'tfdf gug'{sf b'O{cf]6f ;Defljt sf/0f n]Vg'xf];\ .
Write two probable causes that Mendel did not do his experiment in frog
instead of pea.

!$= pNsf / pNsflk08aLr b'O{ leGgtf pNn]v ug'{xf];\ .
State two differences between meteors and meteorites.

;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ (Group 'C') 6x3=18
!%= tflnsfdf Ps 6'j|mf 9'ª\ufnfO{ tLg km/s dfWodx? xfjf,

z'4 kfgL / g'gkfgLsf] 3f]ndf 8'afP/ hf]Vbfsf] km/s
km/s tf}nx? lbOPsf 5g\ . tflnsf x]/L lgDg k|Zgx?sf]
pQ/ lbg'xf];\ .
The different weights of a piece of stone on weighing in three different
media - air, fresh water and salt solution are given in the table. Answer the
following questions by observing given table.
i) X, Y / Z dWo] s'grflx“ xfjf, z'4 kfgL / g'gkfgL x'g\ <
Identify water, air and salt solution among X, Y and Z
ii) olb 1kg lk08sf] tf}n xfjfdf 10N eP dflysf] tflnsfdf lbOPsf] 9'ª\ufsf] lk08 slt xf]nf <
If the weight of 1kg mass in air is 10N, what will be the mass of the given stone?
iii) 9'ª\ufn] dx;'; u/]sf] pmWj{rfk kQf nufpg'xf];\ .
Find the upthrust experienced by the stone?

!^= lbOPsf] lrqdf C2 df C1 sf] 1/5  efu SjfOnsf] ;+Vof
5 . olb OGk'6 ef]N6]h 1200V 5 eg] output voltage
slt x'G5 < o; pks/0fsf] sf]/df n]ldg];g ul/G5, lsg <
In the given diagram C2 has 1/5 coil of C1. If the
input voltage is 1200V, what will be the output voltage? What is the reason
behind laminating the core of this device?

!&= k|of]uzfnfdf sfa{g8fOcS;fO8 Uof; agfpg] ljlwsf] lrq sf]g'{xf];\ . pQm k|lj|mofdf k|of]u
x'g] b'O{ /;fogsf] gfd n]Vg'xf];\ .
Draw a diagram of laboratory preparation of carbondioxide gas. Name
two chemicals used for this process.

!*= ydf]{;]l6ª Knfli6s / ydf]{Knfli6ssf b'O{–b'O{cf]6f pkof]ux? n]Vg'xf];\ . Knfli6ssf b'O{cf]6f
ljz]iftfx? n]Vg'xf];\ .
Write any two applications of Thermosetting and thermoplastics. Mention
any two characteristics of plastics.

dfWod(Medium) tf}n(Weight)
          X           12 N
          Y           18N
          Z           14N
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!(= d]6f;]lG6«s, ;ad]6f;]lG6«s / 6]nf];]lG6«s j|mf]df]hf]dx?sf] lrq sf]g'{xf];\ .

Draw diagrams for each Metacentric, Sub-metacentric and Telocentric chromosomes.
@)= a9L dfqfdf kmnk"mn pTkfbg ug{ la?jfsf] s[lqd k|hggn] s;/L ;xof]u k'¥ofp“5 <

How does artificial reproduction help in the excess production of fruits?
;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ (Group 'D') 4x4=16

@!= tnsf] lrqdf ;dfg lk08 ePsf ;fy} x/t/xn] p:t} wft'sf b'O{cf]6f
lk08x? A / B nfO{ k[YjL / rGb|dfsf] ;txlt/ v;fO“b}5 . lbOPsf]
tYofª\snfO{ ljZn]if0f u/L tnsf k|Zgx?sf] pQ/ lbg'xf];\ .
In the figure below, two identical metal balls A and B
having equal masses are being dropped towards the
surface of moon and earth. Analyse the given data
and answer the following questions:
i) olb b'j} uf]nfx? -lk08x?_ nfO{ Ps}k6s v;fOof] eg] s'grflx“ hldgdf l56f]
7f]lsG5 < lx;fa u/]/ b]vfpg'xf];\ .
If both the metal balls are released simultaneously, which one does strike
the ground faster? Show with calculation.
ii) Ps hgf dflg;n] k[YjLsf] ;txdf 30kg p7fp“5 . p;n] Tolt g} an k|of]u u¥of] eg]
rGb|dfsf] ;txdf slt lk08 p7fpg ;S5 xf]nf <
A person lifts 30kg on the surface of the earth. How much mass can he lift
on the surface of the moon if he applies same magnitude of force?

@@= tn lbOPsf] ;+/rgfTds ;"qsf] cWoog u/L lgDg k|Zgx?sf] pQ/
lbg'xf];\ M
Study the structural formula given below and answer
the following questions:
i) o;sf] IUPAC gfd n]Vg'xf];\ . (Write the IUPAC name of it)
ii) o;nfO{ sfaf]{lgs of}lussf] s'g ;d"xcGtu{t /flvG5 <
In which group of organic compound is it kept?
iii) o;df ePsf] tLgcf]6} 'OH' x6fP/ tLgcf]6f 'H' yKbf aGg] xfO8«f]sfa{gsf] k|sf/ n]Vg'xf];\ .
Which type of hydrocarbon is formed if three 'OH' are replaced by three 'H' atom?
iv) o;nfO{ kmnk"mn tyf vfB kbfy{x?df k|of]u ug'{sf b'O{cf]6f sf/0fx? lbg'xf];\ .
Give two reasons to use this compound in fruits and food materials.

@#= Go'/f]gsf] ;kmf lrq agfO{ 8]G8«fO6 / PShf]g b]vfpg'xf];\ . cs:dft\ tftf] j:t' 5'“bf Go'/f]gn]
v]Ng] e"ldsf k|i6 kfg'{xf];\ .
Draw the diagram of neuron and label dendrite and axon. Clarify the role
of neuron when one suddenly touch the hot body.

@$= vlgh t]n aGg] tl/sf lrq;lxt j0f{g ug'{xf];\ . ‘xfd|f] h:tf] b]zdf vlgh t]nsf] vkt sd
ug'{kb{5’ Pp6f sf/0f lbg'xf];\ .
Explain the process of formation of mineral oil with diagram. Give a reason
to minimize consumption of mineral oil in the country like Nepal.

30kg

10m 10m

30kg

rGb|dfsf] ;tx k[YjLsf] ;tx
g=1.62m/s2  g=9.8m/s2
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dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

ljifoM clgjfo{ lj1fg 
k"0ff{ª\sM– &% 
 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . k/LIfsn] 
pTt/sf] z'¢tf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ cg';f/ ;xL, :ki6, 
pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] lgb]{z u/]sf] kl/lw / ;Ldfleq /xL 
d"Nofª\sg ug'{kg]{ 5 .  

Q.No. pQ/ Marks 

1. 

a. xfO8«f]ld6/ / kfgLhxfh -jf ldNbf] pQ/ n]v]df_ 
b. cTolws tfk / rfksf] pkl:yltdf xfO8«f]hgsf xn'sf k/df0f'x? 

;+of]hg eO lxlnodsf ux|f}+ k/df0f' / phf{ lgdf{0f x'g] k|ltlqmofnfO{ 
Go"lSno/ ˆo"hg k|ltlqmof elgG5 . 

c. cNsf]xn / ds{/L 
d. k|sfzsf] ls/0fnfO{ s]lGb|t jf ljs]lGb|t ug]{ n]G;sf] Ifdtf 
e. A.C. sf] ljB'tLo rfk a9fpg] ljB'tLo pks/0f 
f. K — 1S2, 2S22P6, 3S23P6, 4S1 
g. Rate of chemical reaction is directly proportional to the concentration 

of the reactant i.e., rate of reaction increases with increase in 
concentration of reactants. 

h. kfgLdf 3'nfpFbf xfO8«f]hg cfof]g (H+) lbg] of}lus 
i. Atomic number = 47     atomic weight =107.88 (108) 
j. 5th Instar larva  
k. dl:tissf] P/f]gf]O8 / kfod]o/sf] lardf /x]sf] jfSnf] t/n kbfy{ 
l. kmd{nl8xfO8 / Pl;6fOn gfO6«]6 jf cGo 
m. kfgLsf] ;txdf efn] Uofd]6 / kf]yL Uofd]6sf] ;dfud eO hfOuf]6 aGg] 

k|lqmof  
n. klxnf] j+zsf] l7dfxf b'O{ km/s u'0fx? ;+u} /x]tfklg cfkm\g} df}lnstf 

gu'dfO{ z'¢ g} /lx csf]{ j+zdf Uofd]6 aGbf tL lhgx? 5'l§O leGg 
u'0fx? ePsf Uofd]6 aGg] lgodnfO{ d]08nsf] n}lª\us z'¢tfsf] lgod 
elgG5 . 

o. a|Xdf08df /x]sf] c/af}+ tf/fx?sf] ljzfn ;d"x 

0.5+0.5 
 
 

1 
0.5+0.5=1 

1 
1 
1 
 
 

1 
1 

0.5+0.5=1 
1 
1 
1 
 

1 
 
 
 

1 
1 

2. i)  9'ª\ufsf] jf:tljs tf]n Ö kfgLdf tf}n ± lj:yflkt kfgLsf] tf}n 
                         Ö 9N ± 2N 

  Actual weight of stone Ö 11N   
 ii)  of] k|of]u cfls{ldl8hsf] l;4fGtdf cfwfl/t 5 . 

 
 

1 
1 

3. — k|b'if0f /lxt .    
— gjLs/0fLo phf{zlQm . 

jf cGo s'g} ldNbf] b'O{ cf]6f sf/0fx? n]v]df 

1 
1 
 

4. i)  hg;ª\Vof j[l4 / phf{sf] efudf j[l4 
ii)  vlgh OGwgdf al9 e/ kg'{ . 

1 
1 
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jf cGo ;xL pQ/ n]v]df k|lt aF'bf ! cª\ssf b/n] hDdf @ cª\s lbg] . 
5. hf8f] ofddf laxfg p7\bf xfd|f] z/L/sf] tfkqmd eGbf aflx/ sf]7fsf] 

xfjfsf] tfkqmd sd x'G5 To;}n] xfd|f] z/L/af6 tfk zlQm aflx/ lg:sg 
yfNb5 / xfdLnfO{ lr;f] nfUb5 t/ aflx/ uP/ sf]7fdf kms{bf aflx/L 
jftfj/0fsf] eGbf sf]7fsf] xfjfsf] tfkqmd al9 x'g] ePsfn] xfdLnfO{ Gofgf] 
nfUb5 . 

 
 
 
 

2 

6. A — Mg DofUg]l;od 
 
B — Cl  Snf]/Lg 
          Mg + Cl2                      MgCl2 

0.5 
0.5 
1 

7.  
2H2O2                         2H2O+O2   -l56f] k|ltlqmof u/fpg] MnO2_ ;sf/fTds 
 
2H2O2                      2H2O+O2   -l9nf] k|ltlqmof u/fpg] glycerin_ gsf/fTds 

 
1 
1 

8. — cDnn] gLnf] ln6d; k]k/nfO{ /ftf] agfpF5 . 
— cDnn] h:tf / DofUg]l;od wft' ;+u k|ltlqmof ul/ xfO8«f]hg lbG5 . 

1 
1 

9. — cfn'ldlgodsf] 3gTTj sf x'gfn] w]/} xn'sf x'gfn] . 
— xfjf / kfgLn] s'g} c;/ ub}{g / lvof nfUb}g . 

1 
1 

10. nfef{ cj:yfnfO{ t'?Gt c;/ kb{5 lsgeg] nfef{n] lsDa'sf] kft vfP/ 
x's{G5 . lsDa'sf] kft gePdf nfef{ db{5 / hLjg rs| k"/f x'g kfpFb}g jf 
/]zd wfuf] k|fKt x'g ;Sb}g . 

 
 

2 

11. — lz/f (Vein) 
A — Endothelium 
B — ;+of]hL tGt' 
C — eNe 

0.5 
0.5 
0.5 
0.5 

12. kf]yL Uofd]6sf] t'ngfdf efn] Uofd]6 cToGt ;fgf] x'G5 . 
kf]yL Uofd]6sf] lgl:qmo x'G5 eg] efn] Uofd]6 a9L ;lqmo x'G5 . 

1 
1 

13. !_ Eofu'tf]df k/ k|hgg u/fpg ufx|f] x'G5 . 
@_ of] jiff{ofddf dfq k|hgg ub{5, h;n] ubf{ Ps jif{df Pp6f jz+sf] 
cWoog ug{ dfq ;lsG5 . 

1 
1 

14. pNsfkft -pNsf_ pNsf lk08 
—cGtl/Ifsf] r§fgsf] 6'qmf, u|x–
pku|xsf] u'?Tj If]qdf k/]kl5 lta| 
ultn] v:bf k|sfzsf] w;f{ h:tf] 
b]lvG5 . 
— jfo'd08nd} lanfpF5 .                  

cGtl/Ifsf 7"nf r§fgsf 
6'qmfnfO{ pNsf lk08 elgG5 . 
 
pNsf lk08 k[YjLsf] ;txdf 
cfOk'U5  

-jf o:t} cGo ldNg] u/L pQ/ n]v]df_ 
 

 
 
 

1 
 

1 

15. i) X = g'gkfgL 
   Y = xfjf 
   Z = z'¢ kfgL 
ii) 9'ª\ufsf] tf}n xfjfdf (W) = 18 N 
                  10 N = 1 kg 
          or,    1 N = ଵ

ଵ଴
 kg 

0.5×3=1.5 
 
 
 
 
 

Cat. MnO2 

Cat. glycerin 
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           or,  18 N = ଵ଼
ଵ଴

 kg 
           or,  = 1.8 kg 
-PsfO gn]v]df jf unt ePdf )=% cª\s 36fpg]_ 
iii) pWj{rfk Ö xfjfdf j:t'sf] tf}n – kflgdf j:t'sf] tf}n 
           Ö 18 N – 14 N = 4 N 

 
 
 

1 
0.5 

16. Here, 
Given diagram – 
         ଵܸ = 1200ܸ 
        ଶܸ =? 
          ݊ଵ = ݊ 
        ݊ଶ =  ௡

ହ
 

Now, 
         ௏మ

௏భ
= ௡మ

௡భ
 

     ଶܸ = ௡మ×௏భ
௡భ

=
೙
ఱ×ଵଶ଴଴

௡
= 240ܸ 

6«fG;kmd{d/sf] sf]/df jflg{; / ;]nfsn] n]ldg];g ul/G5 h;n] a9L ePsf] 
ljB't v]/ hfgaf6 /f]S5 . (Core of transformer is laminated with varnish 
and shellac so that it can prevent the flow of eddy current.)  

 
 
 
 
 

1 
 
 

1 
 
 

1 
 

17. sfa{g8fO{ cS;fO{8 UofF; agfpg] ljlwsf] ;xL lrq  
 

 
/;fog  CaCO3 — Calcium Carbonate 
                HCl — Hydrochloric Acid  

2 
 
 
 
 
 
 

0.5 
0.5 

18. ydf]{Knfli6ssf pkof]ux? M 
— kf]lnlyg Jofu agfpg 
— kfOk agfpg 

ydf]{;]l6Ë Knfli6ssf pkof]ux? M 
— r'/f]6bfgL agfpg 
— k|]z/ s's/sf] XofG8n agfpg 
-s'g} b'O{ pkof]u n]v]df_ 

Knfli6ssf ljz]iftfx? M 
— tfk / ljB'tsf s'rfns 
— xn'sf 
-s'g} b'O{ ljz]iftf n]v]df_ 

 
 

1 
 
 
 

1 
 
 
 

1 
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19. 

 
            Metacentric            Subcentric                                              Telocentric 

3 

20. i) l6:o" sNr/ ljwLsf] k|of]u ul/ lj?jfsf] d]l/:6d, sf08sf] sNr/ u/L 
pxL k|sf/sf c;ª\Vo jg:kltx? cf}Bf]lus ?kdf pTkfbg ug{ ;lsG5 . 
ii) nf]kx'g nfu]sf jg:kltsf] ;+/If0f ug{ ;lsG5 . 
iii) n]ol/Ë, u|fˆ6LË ljwLsf] k|of]u u/L c;ª\Vo gofF lj?jfx? pTkfbg ug{ 
;lsG5 . 
-jf o:t} cGo ldNg] u/L pQ/ n]v]df_ 

 
 
 
 
 

3 
21. i) For the ball falling on the earth (B) 

ݐ       = ටଶ௛
௚௘

 

       = ටଶ×ଵ଴
ଽ.଼

 

       = 1.43 sec 
 For the ball falling on the moon (A) 

   t= ටଶ×ଵ଴
ଵ.଺ଶ

 

     = 3.51 sec 
 The ball B takes short time to strike the ground i.e. B strikes faster than 
A.  
ii) According to question, 
   weight lifted on the earth = weight lifted on the moon 
  i.e.   m1 × ge = m2 × 9m 
  or,   30 × 9.8 = m2 × 1.62 
           ݉ଶ = ଷ଴×ଽ.଼

ଵ.଺ଶ
 

           m2 = 181.48 kg 
 Thus, the person can lift 181.48 kg on the surface of the moon. 

 
 
 
 
 
 
 
 
 
 

0.5 
 
 
 
 

0.5 
0.5 
0.5 

22. i) IUPAC gfd Propane-1, 2, 3 Triol  
ii) cNsf]xn cGtu{t 
iii) ;+t[Kt xfO8«f]sfa{g -kf/flkmg ÷k|f]k]g_ 

1 
0.5 
0.5 
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iv) —kmnkm"n tyf vfBkbfy{x?nfO{ ;'Vvf x'gaf6 arfpg  
—;8\g glbg 

1 
1 

23. ;xL lrq 

 
8]G8«fO6       
PShf]g      
;]G;/L Go"/f]gn] pQ]hgf (hot) nfO{ k|fks cª\uaf6 ;'if'Dgf ;Dd n}hfg] 
ub{5, ;'if'Dgfdf ePsf] sg]S6/af6 df]6/ Go"/f]g lt/ k7fpF5 .  
    df]6/ Go"/f]gn] pQm pQ]hgfnfO{ Okm]S6/ cª\u ;Dd k'¥ofpF5 . 

1 
 
 
 
 

0.5 
0.5 

 
1 
1 

24. — vlgh t]n aGg] lrq agfPdf 
 

 
  
— xhf/f}+ jif{;Ddsf] pRr rfk, tfk tyf JofS6]l/ofsf sf/0fn] sfa{lgs 
a:t'x? t/n xfO8«f]sfa{gdf ?kfGt/0f x'G5g\ egL JofVof u/]df  
— g]kfndf vlgh t]nsf] pTkfbg gePsfn]  
      -jf cGo Pp6f ;xL pQ/ n]v]df_  

1 
 
 
 
 
 

2 
1 
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j|mdzM

SEE 2074 (2018)
clgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fg
gof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|md

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6 k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer all the questions.)
;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ (Group 'A')

!=!=!=!=!= tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ . 15x1=15
Write short answer of the following questions.
a. k[YjLsf] e"dWo/]vLo If]q / w|'jdf df 'g' sf] dfg slt x'G5 <

What is the value of 'g' on equatorial region and polar region of the earth?
b. cfls{ldl8hsf] l;4fGt n]Vg'xf];\ . (State Archimedes' principle.)
c. pmhf{sf] j}slNks ;|f]t eg]sf] s] xf] < (What is alternative source of energy)
d. ljlzi6 tfkwf/0f Ifdtf eg]sf] s] xf] < (What is specific heat capacity?)
e. lj:t[tLs/0f kQf nufpg] ;"q n]Vg'xf];\ .

Write the formula to find the magnification.
f. d]G8]lnesf] k]l/of]l8s lgod n]Vg'xf];\ . (State Mendeleev's periodic law.)
g. cDnLo nj0f eg]sf] s] xf] < (What is acidic salt?)
h. tfdfsf b'O{cf]6f wfpsf] gfd n]Vg'xf];\ .(Write the name of two ores of copper.)
i. l;lnsf sf“r eg]sf] s] xf] < (What is silica glass?)
j. s'g} b'O{ pkof]uL ls/fx?sf] gfd n]Vg'xf];\ . (Name any two useful insects.)
k. dflg; / uf]l/Nnfsf] Pp6f sf]ifdf j|mf]df]hf]d ;ª\Vof slt x'G5 <

How many chromosomes are in a cell of human body and gorilla?
l. cd}y'lgs k|hgg x'g] s'g} b'O{ hgfj/sf] gfd n]Vg'xf];\ .

Name any two animals that reproduce by asexual method.
m. n]ol/ª\u eg]sf] s] xf] < (What is layering?)
n. jfo'k|b"if0f eg]sf] s] xf] < (What is air pollution?)
o. :tgwf/L hLjx?sf] pTklQ s'g dxfsNkdf eof] <

In which era are the mammals evolved?

;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ (Group 'B') 13x2=26
@= rGb|dfsf] ;txdf s'g} klg j:t'sf] tf}n k[YjLsf] ;txdf eGbf sltn] sd x'G5 / lsg <

How much is the weight of a body less on the moon surface than on the
earth surface? Why?



j|mdzM

RE-111'BC' (2)
#= an / rfkaLr b'O{ km/s n]Vg'xf];\ .

Write two differences between force and pressure.
$= jghª\un k'gM nufpg ;lsg] eP tfklg sf7bfp/fnfO{ OGwgsf] ?kdf k|of]u ug]{ ;Nnfx

lbg] ul/“b}g, lsg <
Why is the use of wood as a fuel not advised although forests can be
replenished?

%= df]6/sf] tftf] OlGhg lr:ofpg kfgLsf] k|of]u ul/G5, lsg <
Why is water used to cool down the engine of vehicles?

^= lbOPsf] tflnsfdf s'g ;d"xsf tŒjx? /flvPsf 5g\ < pQm ;d"xdf dflyaf6
tnlt/ hf“bf tŒjsf] lj|mofzLntfdf s:tf] kl/jt{g cfp“5 < lsg <
Which group of elements are kept in the given table ? What
happens to the reactivity of the elements when moving top to
bottom? Why?

&= t6:y nj0f / cDnLo nj0faLr s'g} b'O{cf]6f km/s n]Vg'xf];\ .
Write any two differences between neutral salt and acid salt.

*= xjfO{hxfhsf] aflx/L cfj/0f kmnfdsf] ;§f cfNdf]lgod k|of]u ul/G5, lsg < s'g} b'O{cf]6f
sf/0f n]Vg'xf];\ .
Why is the outer body of an aeroplane made up of aluminium instead of
iron? Write any two reasons.

(= ;fa'g / l86/h]G6aLr s'g} b'O{cf]6f km/s n]Vg'xf];\ .
Write any two differences between soap and detergent.

!)= hf8f] ;dodf /];d ls/fsf k'mnx? lr;f] 7fp“df /fVg'sf] sf/0f lbg'xf];\ .
Why are eggs of silkworm kept in cold place in winter? Give reason.

!!= 8fpG; l;G8«f]dsf] s'g} b'O{cf]6f c;/x? n]Vg'xf];\ .
Write any two effects of Down's Syndrome.

!@= ;fwf/0f n]ol/ª\u ljlwaf6 sfutLsf] gof“ la?jf s;/L pdfg{ ;lsG5 < 5f]6s/Ldf ;lrq
j0f{g ug'{xf];\ .
How can we grow new lemon plant from simple layering process? Explain
briefly with a diagram.

!#= ‘hnjfo' kl/jt{gsf] d'Vo sf/0f jfo'k|b"if0f xf]’ of] egfOnfO{ k'li6 ug'{xf];\ .
'The main cause of climate change is air pollution.' Justify this statement.

!$= gfO6«f]hg cS;fO8n] s;/L cf]hf]g txnfO{ gi6 ub{5 < /f;folgs ;dLs/0f;lxt
n]Vg'xf];\ .
How does nitrogen oxide destroy ozone layer? Write with chemical equation.

Group
F
Cl
Br
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(3) RE-111'BC'
;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ (Group 'C') 6x3=18

!%= rGb|dfsf] lk08 / cw{Jof; qmdzM 7.2x1022 kg / 1.7x106 m 5g\ eg] rGb|dfsf]
u'?Tjk|j]u slt xf]nf < 80 kg  lk08 ePsf] j:t'sf] tf}n rGb|dfdf slt xf]nf <
The mass of the moon is 7.2x1022 kg and its radius 1.7x106 m. Calculate
the acceleration due to gravity of the moon and also calculate the weight
of an object of mass 80 kg on the lunar surface.

!^= 2 cm s]Gb|Ls/0f b"/L ePsf] Pp6f sGe]S; n]G;af6 4 cm 6f9f Pp6f aln/x]sf] d}gaQL
/flvPsf] 5 . pQm cj:yf b]vfpg] ls/0f /]vflrq agfO{ pQm n]G;sf] lj:t[lt lx;fa u/L
lgsfNg'xf];\ .
Calculate the ray diagram of image formed by convex lens having focal
length 2 cm, if lighting candle is placed 4 cm away from lens. Also calculate
the magnification of lens.

!&= rf“bLsf tLgcf]6f pkof]lutfx? n]Vg'xf];\ .
Write any three uses of silver.

!*= tnsf] ;+/rgf ;"q cjnf]sg u/L lbOPsf k|Zgx?sf] hjfkm lbg'xf];\ .
Observe the following structural formula and answer
the given questions.
i) lrqdf lbOPsf] xfO8«f]sfa{gsf] gfd / c0f';"q n]Vg'xf];\ .
Write the name and molecular formula of the hydrocarbon given in the
figure.
ii) o;nfO{ lsg 6«fOxfOl8«s cNsf]xn elgG5 <
Why is it called trihydric alcohol?
iii) o; xfO8«f]sfa{gsf] s'g} Ps Jofjxfl/s k|of]u pNn]v ug'{xf];\ .
Mention any one practical applications of this hydrocarbon.

!(= :gfo'k|0ffnL  / u|lGyk|0ffnL b'j} ldn]/ dfgj z/L/n] ug]{ lgoGq0f / ;~rfng sfo{df d2t
k'¥ofp“5, s;/L <
How does nervous system and glandular system together perform the function
of control and coordination in human beings?

@)= k'i6 bfgf ePsf] s]/fp / rfpl/Psf] bfgf ePsf] s]/fpaLr k|hgg u/fp“bf
cfpg] glthfnfO{ tflnsfdf b]vfOPsf] 5 . pQm tflnsfsf] cfwf/df lgDg
k|Zgsf] pQ/ lbg'xf];\ .
Pea with round seed and wrinkled seed are fertilized and result is shown in
the table. Answer the following questions on the basis of the table.
i) pQm j+zdf k'i6 / rfpl/Psf] s]/fpsf] lkmgf]6fOk / lhgf]6fOk cg'kft n]Vg'xf];\ .
Write phenotype and genotype ratio of round pea and wrinkled pea in that
generation.
ii) pQm glthfdf d]08nsf] k|antfsf] lgod / n}lª\us z'4tfsf] lgod k|of]u ePsf 5g\, s;/L <
Both law of dominance and law of segregation hold on that result, how?

     R     r
R  RR  Rr
r   Rr     rr

H       H     H

OH    OH  OH
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;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ (Group 'D') 4x4=16

@!= lbOPsf] lrqsf] cfwf/df ;f]lwPsf k|Zgx?sf] hjfkm n]Vg'xf];\ .
Answer the questions on the basis of given figure.
i) ;fOsnsf] kfª\u|fsf] ult a9fp“bf o; pks/0fleq x'g] s'g} b'O{
36gf÷kl/jt{gx? pNn]v ug'{xf];\ .
Mention any two events that take place when the speed of bicycle wheel
is increased.
ii) ‘o; pks/0fsf] sfo{ k|0ffnL / ljB't\ df]6/sf] sfo{ k|0ffnL 7Ls pN6f] 5’ o; egfOnfO{
k'li6 ug'{xf];\ .
'Working mechanism of this device is just opposite to the working mechanism
of an electric motor.' Justify this statement.

@@= lbOPsf] lrq cWoog u/L lgDg k|Zgx?sf] pQ/
lbg'xf];\ .
Study the given diagram and answer the
following questions.
i) Uof; hf/df s'g Uof; hDdf eO/x]sf] 5 <
Which gas is collected in gas jar?
ii) s:tf] /ª\usf] ln6d; k]k/sf] k|of]uaf6 pQm Uof; klxrfg ug{ ;lsG5 <
Which coloured litmus paper is used to identify such gas?
iii) o; Uof;nfO{ pN6f] kfl/Psf] vfnL Uof; hf/df hDdf ul/G5 < lsg <
Why does this gas is collected in inverted gas jar?
iv) pQm Uof; hDdf ug{ nfOd 6fj/sf] k|of]u gubf{ s] x'G5 / lsg <
What happens when lime tower is not used to collect such gas?

@#= kf/jfxg / ;'/Iffsf] ;Gbe{df /utn] s;/L dxŒjk"0f{ e"ldsf v]n]sf] x'G5 < /utdf /x]sf]
o'l/s Pl;8sf] dfqf 36fpgsf nflu ckgfpg'kg]{ s'g} Ps ;fjwfgLaf/] cfkm\gf] ;'emfj
lbg'xf];\ .
How does blood play an important role in the context of transportation and
protection? Suggest a precaution to be taken to reduce the amount of uric
acid in the blood.

@$= lbOPsf] lrq cWoog u/L ;f]lwPsf k|Zgx?sf] pQ/
n]Vg'xf];\ .
Study the given figure and answer the following
questions :
i) ;"o{sf] jl/kl/ 3'Dg] o:tf lk08x?sf] kl/ro lbg'xf];\ .
Introduce such objects revolving around the Sun.
ii) of] lk08 ;"o{sf] glhs x'“b} hf“bf o;sf] k'R5/sf] cfsf/ lsg a9\b} hfG5 <
Why does the size of tail of this mass increase when it comes closer to the Sun?
iii) o;nfO{ tf/fsf] ?kdf lng ;ls“b}g, s;/L < s'g} b'O{ k|df0fx? lbg'xf];\ .
It cannot be considered as a star, how? Give any two evidence.

Bicycle dynamo
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dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

ljifoM clgjfo{ lj1fg 
k"0ff{ª\sM– &% 
 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . k/LIfsn] 
pTt/sf] z'¢tf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ cg';f/ ;xL, :ki6, 
pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] lgb]{z u/]sf] kl/lw / ;Ldfleq /xL 
d"Nofª\sg ug'{kg]{ 5 .  

Q.No. pQ/ Marks 

1. 

a. e"dWo /]vLo If]qdf 9.78m/sec2 / w|'a{df 9.83m/sec2 
b. s'g} j:t'nfO{ t/n kbfy{df cf+lzs jf k"0f{ ?kn] 8'afpFbf lj:yflkt 

x'g] t/nsf] tf}n To; j:t'df kg]{ t/nsf] pWj{rfk;+u a/fa/ x'G5 . 
c. hLjfjz]if phf{sf] ;§fdf k|of]u ug{ ;lsg] phf{sf ;|f]t  
d. 1kg lk08 ePsf] j:t'sf] tfkqmd 1C n] a[l4 ug{ cfjZos tfksf] 

kl/df0f . 
e. lj:t[lt     jf       

f. tTjsf ef}lts / /f;folgs u'0fx? ltgLx?sf] kf/df0fljs ef/x?sf 
k]l/of]l8s sfo{:j?k x'G5g\ . 

g. s8f cDn / g/d Iff/ aLrsf] k|ltlqmofaf6 aGg] nj0f .  
h. rfNsf]kfO{/fO6 / rfNsf];fO6 
i. l;lnsfnfO{ sl/a 1600C ;Dd ttfP/ lr:ofpFbf aGg] lqm:6nfOg 

sfFr 
j. /]zd ls/f / df}/L 
k. dflg; 46 cf]6f / uf]l/Nnf 48 cf]6f  
l. xfO8«f / cldaf 
m. dfpaf]6sf xfFufx?af6 h/f lgsfnL gofF la?jf tof/ ug{] ljlw 
n. xfjfdf aflx/L cgfjZos a:t'x? ldl;O{ xfjfsf] ef}lts ;+/rgfdf 

cfpg] kl/jt{gnfO{ jfo'k|b'if0f elgG5 . 
o. l;gf]hf]Os dxfsNk 

1 
 

1 
1 
 

1 
 

1 
 

1 
1 

0.5+0.5 
1 
 

0.5+0.5 

0.5+0.5 
0.5+0.5 

1 
 

1 
1 

2. k[YjLeGbf rGb|df ;fgf] ePsfn] rGb|dfsf] u'?Tjan k[YjLsf] eGbf  u'0ff 

yf]/} 5 . To;}n] s'g} klg a:t'sf] tf}n k[YjLdf eGbf rGb|dfdf  u'0ff sd 

x'G5 . 

 
1+1 

 

3. an  rfk 
— s'g} j:t'sf] cj:yf kl/jt{g ug]{ jf 
ug{ vf]Hg] r]i6f . (An external 
agent that changes the state of 
any object.) 

— o;sf] SI PsfO N xf] . 

PsfO If]qkmndf nDa ?kn] kg]{ 
an . 
(Force per unit area.) 
 
o;sf] SI PsfO Pa xf] .  

 

 
 
 

1 
 

1 
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4. jghª\un k'gM nufpg ;lsg] ePtfklg sf7 bfp/fnfO{ OGwgsf] ?kdf 
k|of]u ug{ ;Nnfx glbg'sf] sf/0fx? M    

— jfo' k|b"if0f x'g] ePsfn] . 
— kfl/l:ylts k|0ffnLdf gsf/fTds c;/ 

cyjf cGo s'g} ldNg] b'O{ a'Fbf n]v]df 

 
 
 
 

2 

5. kfgLsf] ljlzi6 tfkwf/0f zlQm al9 (4200J/kgC) ePsfn] o;n] 
OGhLgaf6 w]/} tfk zlQm zf]if0f u5{ / OGhLg l56f] lrl;g] ePsfn] jf 
cGo s'g} ldNbf] pQ/ n]v]df  

 
2 
 

6. — lbOPsf] tflnsfdf ;d"x VII'A' jf 17 ;d"xsf tTj /x]sf 5g\ . 
— pQm ;d"xdf dflyaf6 tnlt/ hfFbf tTjsf] lqmofzLntf 36\b} hfG5 

lsgeg] oLgLx?sf] kf/df0fljs cfsf/ a9\b} hfg] ePsfn] On]S6«f]g 
lnP/ t6:y aGg] Ifdtf 36b} hfG5 . To;}n] 

0.5 
 
 

1.5 

7. ty:6 nj0f cDnLo nj0f 
— of] cDndf ePsf] H+ sf] k"0f{ 
lj:yfkgaf6 aGb5 . 
— o;df cDnLo u'0f x'Fb}g . 

— of] cDndf ePsf] H+ sf] cf+lzs 
lj:yfkgaf6 aGb5 . 
— o;df cDnLo u'0f x'G5 . 

  

1 
 

1 

8. i) cfNdf]lgoddf lvof nfUb}g . 
ii) cfNdf]lgod kmnfd eGbf xn'sf x'G5 . 
jf cGo ;xL pQ/ n]v]df cª\s k|bfg ug]{ . 

1 
1 

9. ;fa'g l86/h]G6 
!_ ˆof6L Pl;8sf] ;f]l8od jf 

kf]6fl;od nj0f xf] . 
@_ ;8\g], uNg] / s'lxg] kbfy{ xf] . 

k]6«f]lnod kbfy{af6 ag]sf] 
3'ngzLn xfO8«f]sfa{g xf] . 
of] g;8\g], gs'lxg] x'G5 . 

     jf cGo ;xL pQ/ n]v]df  

 
1 
 

1 
 
 

10. hf8f] ofddf lsDa'sf] kft kof{Kt dfqfdf pknAw x'Fb}g . /]zd ls/fn] 
nfef{ cj:yfdf lsDa'sf] kft vfP/ afFRb5 . /]zd ls/fsf k'mnx?nfO{ 
lr;f] 7fpFdf /fVbf o;nfO{ nfef{df kl/0ft x'g w]/} ;do nfUg] ePsf] 
x'gfn]  

 
 
 

2 

11. JolQmsf] zf/Ll/s a[l4df sld cfpF5 
dfgl;s / dgf]j}1flgs j[l4df dGbtf cfpF5 . 

1 
1 

12. o; ljlwdf dfp sfutLsf] af]6sf] Psjif{ eGbf k'/fgf] xfFufsf] 6'Kkf] eGbf 
sl/a 20cm k/sf] efunfO{ g'jfP/ (bending) lr;f] df6f]n] 5f]lkG5 .  
df6f]nfO{ af/Daf/ kfgL lbP/ lr;f] agfpg' kb{5 . sl/a b'O{ tLg dlxgf 

kl5 g'jfPsf] efuaf6 h/f knfpF5 . h/f cfO{;s]k5L jiff{ofdsf] 
cGTolt/ dfpaf]6af6 sf6L csf]{ 7fpFdf ;fl/G5 . 

pko'Qm lrq agfPdf  

 
1 
 
 
 

1 
 

13. jfo'k|b"if0f x'Fbf jfo'd08ndf ljleGg xl/tu[x UofF;x?sf] j[l4 x'G5 . pQm 
UofF;x?sf] dfqf ajl4 x'Fbf ;"o{af6 k[YjLsf] ;txdf cfPsf ljsL/0fx? 
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k[YjLsf] ;txaf6 k/fjt{g eO{ aflx/L jfo'd08ndf hfg kfpFb}g cyf{t 
jfo'd08nn] pQm ljsL/0fx? zf]if0f ub{5 / k[YjLsf] tfkqmd j[l4 x'g 
hfG5 . k[YjLsf] tfkqmd nfdf] ;do ;Dd j[l4 x'Fbf k[YjLsf] hnjfo' 
9fFrfdf kl/jt{g cfpF5 . 

 
 
 
 

2 

14. gfO6«f]hgsf cS;fO{8x? ;dtfk d08ndf k'Ubf o;n] cf]hf]g ;+u 
k|ltlqmof ub{5 / clS;hgsf ;fy} gfO6«f]hgsf csf{ cS;fO8x? 
agfpFb5 . gfO6«f]hgsf csf{ cS;fO8x? km]l/ cf]hf]g;+u k|ltlqmof ub{5 
/ cf]hf]g tx lj:tf/} gfl;+b} hfG5 . 
   NO + 03           NO2 + O2 
     2NO2 + O3           N2O3 + 2O2 

 
 
 

1 
1 

15. rGb|dfsf] lk08 (M) = 7.2 × 1022kg 
R = 1.7 × 106m 
G = 6.67 × 10-11Nm2/kg2 
g = ? 
g =   

        

        
Again, j:t'sf] lk08 (m) = 80 kg  
       a:t'sf] tf}n (W) = m × g 
                                           = 80×1.67 
                                            = 133.6 N 
unt PsfO{ n]v]df jf PsfO{ gn]v]df )=% cª\s sd ug]{ . 

 
 
 
 

0.5 
 

1 
 

0.5 
 

1 
 

16.  
 
 
 
 
U = 4 cm 
V = 4 cm 
M = ? 
             M =   

 
 
 

2 
 
 
 
 

1 

17. i) l;Ssf, uxgf / ;hfj6sf ;fdu|Lx? agfpg 
ii) l;Ne/ nj0f tyf cf}ifwLx? agfpg 
iii) cGo JolQmx?df n]kg ug{ 

1 
1 
1 

18. i) Trihydric Alcohol Or Glycerene 
     c0f';"q  CH2OHCHOHCH2OH  or  [CC2H5(OH)3] 
ii) o;df tLgcf]6f OH ;d"x x'G5 . 
iii) kmnk"mn tyf vfBkbfy{x?nfO{ ;8\gaf6 arfpg tyf ;'Vvf /fVg 

1 
 

1 
1 

19. :gfo' k|0ffnLdf dl:tis, ;'if'Dgf / :gfo' /]zfx? x'G5g\ . logLx?n] 
z/L/df ljleGg k|sf/sf lqmofsnfksf] ;fy} aflx/L lqmofsnfkdf x'g] 
pQ]hgfnfO{ u|x0f u/L dl:tisdf k'¥ofpF5 / pQm lqmofsf] lgoGq0f / 

 
 
 

O F F B 

A 

2F 2F 

A' 

B' 
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;~rfng ub{5 . To:t} u|GyL k|0ffnLn] xdf]{g pTkfbg u/L /utdf k|ToIf 
?kd} ldl;O{ z/L/sf] ljleGg efudf k'Ug hfG5 / z/L/sf] lqmofsnfksf] 
;~rfng ug'{sf] ;fy} To; k|sf/sf] lqmofsnfksf] lgoGq0f klg ub{5 . 

 
 

3 

20. a. lkmgf]6fOk M 3:1 
    lhgf]6fOk M 1:2:1 

b. b'a} j+zsf] cWoog ubf{ klxnf] j+zdf ;a} k'i6 bfgf dfq ePsf] s]/fp 
b]lvPsfn] d]08nsf] klxnf] lgod k|of]u ePsf] 5 . To:t} k'i6 bfgf 
ePsf] s]/fp leqaf6} rfpl/Psf] s]/fp klg b]lvPsfn] ToxfF To:tf] 
u'0f klg /xFbf] /x]5 / k5fl8 b]lvFbf]/x]5 To;sf/0f n}ª\lus z'4tfsf] 
lgod k|of]u ePsf] 5 .  

0.5 
0.5 

 
 
 
 

2 

21. i) – Coil cuts the magnetic lines of force. 
   – Current gets produced in the coil.   
or for any two correct points 
ii) – Dynamo converts mechanical energy into electrical energy but the 
electric motor converts electrical energy into mechanical energy. 
    –  Dynamo based on electromagnetic induction but electric motor 
based on motor effect. 

 
2 
 

1 
 

1 

22. i) Ammonia gas hDdf ePsf 5 .  
ii) /ftf] ln6d; k]k/ 
iii) xfjf eGbf xn'Ëf] x'G5 . 
iv) nfOd 6fj/df ePsf] cao n] Ammonia sf] hnjfik ;f]:5 / z'4 -
;'Vvf_ Pdf]lgof hDdf x'G5 . 

0.5 
0.5 
1 
 

2 

23. – kf/jxgsf] af/]df n]v]df 
– ;'/Iffsf] af/]df n]v]df 
– Avoiding red meat, beans etc. 

(for any other correct answer.) 

1.5 
1.5 

 
1 

24. i) The mass of frozen gases, ice and dust particles which revolve around 
the sun is called a comet. 
ii) It receives large amount of heat energy from the sun and evaporation 
of more amount of ice takes place causing the formation of a long tail, 
when it becomes closer to the sun.  
iii) - Because it is non-luminous body. 

- It is very cold and contains frozen gases. 

1 
 

1 
 

1 
1 
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j|mdzM

SEE 2074 (2018)
clgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fg
gof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|md

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6 k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer all the questions.)
;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ (Group 'A')

!=!=!=!=!= tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ . 15x1=15
Write short answer of the following questions.
a. u'?Tjfsif{0f l:y/ cª\s (G) sf] dfg slt x'G5 <

What is the value of universal gravitational constant (G)?
b. kf:snsf] lgod n]Vg'xf];\ . (State Pascal's law.)
c. gjLs/0fLo pmhf{sf] kl/efiff lbg'xf];\ .

Define renewable source of energy.
d. tfk ;dLs/0f eg]sf] s] xf] <  (What is heat equation?)
e. gfOj|mf]d tf/ s'g–s'g wft'sf] ld>0faf6 agfOG5 <

Which metals are used to make nichrome wire?
f. P-block On]d]G6 eg]sf] s] xf] < (What is P-block element?)
g. /f;folgs k|ltlj|mofdf k|efj kfg]{ s'g} b'O{ sf/s tŒjx?sf] gfd n]Vg'xf];\ .

Write any two factors that affect the chemical reaction.
h. IUPAC sf] k"/f ¿k n]Vg'xf];\ . (Write the full form of IUPAC.)
i. Saponification eg]sf] s] xf] <(What is saponification?)
j. lk6\o'6/L u|lGyn] pTkfbg ug]{ b'O{cf]6f xdf]{gsf] gfd n]Vg'xf];\ .

Write two name of hormones produced by pituitary gland.
k. k'?if / dlxnfdf kfOg] ;]S; j|mf]df]hf]d s]–s] x'g\ <

What sex chromosomes are found in male and female?
l. Binary fission eg]sf] s] xf] < (What is binary fission?)
m. DNA sf] k"/f ¿k n]Vg'xf];\ . (Write the full form of DNA.)
n. cf]hf]g jfo'd08nsf] s'g txdf kfOG5 <

In which layer of atmosphere ozone layer is found?
o. 8fOgf];/sf] k|e'Tj / ljgfz s'g era df ePsf] xf] <

In which era Dinosaurs dominant and extinction?
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RE-111'CC' (2)

;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ (Group 'B') 13x2=26

@= kxf8df eGbf t/fO{df u'?Tjk|j]u 'g' sf] dfg a9L x'G5, lsg <
Why is the value of 'g' more in Terai than in the mountain?

#= t/n kbfy{sf] 3gTj / o;n] lbg] pmWj{rfkaLr s] ;DaGw 5 < :ki6 kfg'{xf];\ .
What is the relationship between the density of a liquid and its upthrust?
Explain.

$= g]kfn ;/sf/n] ls;fgx?nfO{ afof]Uof; KnfG6 :yfkgfsf nflu k|f]T;fxg ug'{sf b'O{ sf/0f
n]Vg'xf];\ .
Write two reasons to encourage the farmers by Government of Nepal to
establish biogas plant.

%= vfg] t]n / kfgLnfO{ b'O{ leGg ljs/x?df a/fa/ dfqfdf /fvL a/fa/ tfk lb“bf s'g kbfy{
rf“8f] tfltG5 / lsg <
If equal quantity of vegetable oil and water in two different beakers are
heated with equal heat, which will increase faster and why?

^= gfO6«f]hgeGbf Snf]l/g a9L lj|mofzLn x'G5, lsg <
Chlorine is more reactive than nitrogen, why?

&= k|sfzåf/f ljR5]bg x'g] /f;folgs k|ltlj|mof n]Vg'xf];\ .
Write a decomposition chemical reaction caused by light?

*= lUn;]/f]nsf] ;+/rgfTds ;"q n]vL OyfOn cNsf]xnsf] s'g} Ps pkof]lutf n]Vg'xf];\ .
Write the structural formula of glycerol and write any one use of ethyl
alcohol.

(= ‘;fa'geGbf l86/h]G6 a9L pkof]uL 5’ b'O{ a'“bfdf o;sf] kIfdf n]Vg'xf];\ .
Defend with two points that 'detergent is more useful than soap.'

!)= Kofª\lj|mofhnfO{ ldl>t u|lGy klg elgG5, lsg <
Pancreas is called mixed gland, why?

!!= efn] Uofd]6 / kf]yL Uofd]6aLr s'g} b'O{ leGgtf n]Vg'xf];\ .
Write any two differences between male gamete and female gamete.

!@= d]G8nn] cfkm\gf] k|of]u s]/fpsf] af]6df gu/]/ dflg;df u/]sf] eP pgn] s]–s:tf] ;d:of
ef]Ug'kYof]{ xf]nf < s'g} b'O{cf]6f ;d:ofx? n]Vg'xf];\ .
State any two difficulties Mendel would have faced if he had carried his
experiment on human instead of pea plant.

!#= df6f] k|b"if0fsf s'g} b'O{ sf/0fx? n]Vg'xf];\ .
Write any two causes of soil pollution.
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!$= s[lqd pku|x k|If]k0f ug'{sf s'g} b'O{ p2]Zox? n]Vg'xf];\ .
Write any two objectives of launching artificial satellites.

;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ (Group 'C') 6x3=18
!%= xfO8«f]lns k|];df 100N an nufp“bf 2000N tf}nnfO{ prfNg ;S5 . olb 7"nf] gnLsf]

j|m;;]S;gsf] If]qkmn 4 m2  5 eg] ;fgf] gnLsf] j|m;;]S;gsf] If]qkmn lgsfNg'xf];\ .
xfO8«f]lns k|];sf] s'g} Pp6f pkof]lutf n]Vg'xf];\ .
An effort of 100N can raise a load of 2000N in a hydraulic press. Calculate
the cross-sectional area of a small piston in it. The cross-sectional area of
a large piston is 4 m2. Write any one applications of Hydraulic press.

!^= Pp6f 6«fG;kmd{/df ;]s]G8/L SjfOnsf] kmGsf k|fOd/L SjfOnsf] eGbf 100 u'0ff a9L 5 .
pQm 6«fG;kmd{/df 200 ef]N6 Ogk'6 ef]N6]h k7fp“bf To; 6«fG;kmd{/n] lbg] cfp6k'6 ef]N6]h
slt x'G5 kQf nufpg'xf];\ . o:tf] 6«fG;kmd{/ sxf“ pkof]u ul/G5 <
The number of turns in the secondary coil is 100 times more than that of
primary coil. Calculate the output voltage, if 220 Volt input voltage is passed
through this transformer. Where is this transformer used?

!&= tnsf /f;folgs k|ltlj|mofsf] cWoog u/]/ lgDg k|Zgx?sf] pQ/ lbg'xf];\ .
Study the following chemical reactions and answer the questions given
below:
NaOH + HNO3    →  NANO3 + H2O
Ca(OH)2 + 2HCl   →  CaCl2+ 2H2O
i) dflysf /f;folgs k|ltlj|mofaf6 Pp6f cDn / Pp6f Iff/sf] gfd n]Vg'xf];\ .
Write down the name of an acid and a base/alkali from the above reactions.
ii) df}/L jf sldnfn] 6f]Sbf dfG5]nfO{ lsg ;fa'g k|of]u ug{sf nflu ;'emfj lbOG5 <
Why is it suggested to use soap to a person suffering from bee or ant bite?
iii) ‘;a} Iff/x? cNsfnL xf]Ogg\’ o; egfOnfO{ k'li6 ug'{xf];\ .
'All the bases are not alkalies.' Justify it.

!*= kmnfd, cfNdf]lgod / rf“bLsf Ps÷Pscf]6f pkof]ux? n]Vg'xf];\ .
Write uses of iron, aluminium and silver each one of them.

!(= dfgj d'6'sf] leqL agfj6sf] lrq agfO{ bfof“ cl/sn / Pcf]6f{ b]vfpg'xf];\ .
Draw internal structure of human heart and show right auricle and aorta.

@)= Po/ n]ol/ª\u ljlwaf6 jg:kltx?sf] k|hgg s;/L ul/G5 < j0f{g ug'{xf];\ .
How does plant reproduce by air layering method? Explain.



RE-111'CC' (4)

;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ (Group 'D') 4x4=16

@!= lbOPsf] n]G;sf] ;fdYo{ +25D 5 . o;;“u
cfwfl/t lgDg k|Zgx?sf]  hjfkm lbg'xf];\ M
Powr of the given lens is +25D.
Answer the following questions based on it.
i) FO b"/L kQf nufpg'xf];\ . (Find the distance FO.)
ii) Pp6f j:t'nfO{ o; n]G;af6 7 cm 6f9f /fVbf aGg hfg] cfs[lt /]vflrq lvRg'xf];\ . ;fy}
o;/L aGg] cfs[ltsf] s'g} tLgcf]6f k|s[ltx? n]Vg'xf];\ .
Draw a ray diagram of the image formed by this lens when an object is kept 7
cm away from the lens. Also write any three natures of the image so formed.

@@= k|of]uzfnfdf Pdf]lgof Uof; agfpg] ljlwsf] lrq agfO{ nfOd 6fj/ / Uof; hf/ gfdfª\sg
ug'{xf];\ . ;fy} o; k|lj|mofdf x'g] ;Gt'lnt /f;folgs ;dLs/0f n]Vg'xf];\  .
Draw a diagram of laboratory preparation of ammonia gas and label the
lime tower and gas jar. Also write the balanced chemical equation involved
in this process.

@#= df}/Lsf] rfsfdf /x]sf A, B / C sf]ifdf k'mnx? 5g\ . tL
k'mnx?af6 s:tf] cj:yfdf A af6 efn], B af6 /fgL /
C af6 sdL{ df}/Ldf ljsl;t x'G5g\ < lgisif{
lgsfNg'xf];\ .
There are eggs in the cells A, B and C of a bee hive. At what conditions do
the egg A developed into drone, egg B into queen and egg C into worker
bee? Draw a conclusion.

@$= cf]hf]g tx ljgfzn] k[YjLdf s;/L c;/ ub{5 < cf]hf]g tx ;+/If0f ug]{ pkfox? j0f{g
ug'{xf];\ .
How does the ozone layer affect on the Earth? Explain the ways to protect
ozone layer.

    A                B             C
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dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

ljifoM clgjfo{ lj1fg 
k"0ff{ª\sM– &% 
pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . k/LIfsn] 
pTt/sf] z'¢tf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ cg';f/ ;xL, :ki6, 
pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] lgb]{z u/]sf] kl/lw / ;Ldfleq /xL 
d"Nofª\sg ug'{kg]{ 5 .  

Q.No. pQ/ Marks 

1. 

a.  
b. aGb efF8fdf /x]sf] t/n kbfy{df s'g} Ps 7fpFdf rfk lbOof] eg] TotL 

g} rfk nDa ?kn] ;a}lt/ k|;f/ x'G5 . 
c. k'gM lgdf{0f x'g] jf pTkfbg ug{ ;lsg] phf{sf] ;|f]t 
d. j:t'n] lnPsf] jf u'dfPsf] tfk To; j:t'sf] lk08, ljlzi6 tfk wf/0f 

Ifdtf / tfkqmddf ePsf] kl/jt{gsf] u'0fgkmn ;+u a/fa/ x'G5 . 
e. lgs]n / qmf]ldod 
f. tTjsf] k/df0f'sf] On]S6«f]g ljGof; ubf{ clGtd On]S6«f]g P - ;a ;]ndf 

k|j]z u5{ eg] To;nfO{ ========== 
g. tfk / rfk jf cGo  
h. International Union of Pure and Applied Chemistry 
i. ;fa'g agfpg] k|s[ofnfO{ 
j. k|]/s xdf]{g / a[l4 xdf]{g 
k. k'?if — XY,      dlxnf — XX 
l. Pp6f kl/kSj dft[sf]if 6'lqmP/ b'O{ ;Gtlt sf]ifx? aGg] k|s[of 
m. Deoxyribonucleic Acid     
n. ;dtfkd08n 
o. d];f]gf]Os O/f 

1 
 

1 
1 
 
 

1 
1 
 

1 
0.5+0.5=1 

1 
1 

0.5+0.5=1 
1 
1 
1 
1 
1 
 

2. — kxf8df eGbf t/fO{df k[YjLsf] cw{Jof; sd x'G5 .    
— k[YjLsf] cw{Jof; sd ePdf u?Tjk|j]usf] dfg al9 x'G5 . 

 

— To;}n] kxf8df eGbf t/fOdf u?Tjk|j]usf] dfg al9 x'G5 . 

2 

3.   t/n kbfy{sf] wgTj a9]df o;n] lbg] pWj{rfk klg a9\5 . 
 t/nsf] 3gTj 36]df o;n] lbg] pWj{rfk klg 36\5 . 
  pWj{rfk  t/nsf] 3gTj 

2 

4. — of] ;:tf] / ufpF3/d} pTkfbg ug{ ;lsG5 .    
— o;af6 tfk, k|sfz / ljB't k|fKt ug{ ;lsG5 .  

jf cGo ;xL pQ/ 

1 
1 

5. vfg] t]n 
vfg] t]nsf] ljlzi6 tfk wf/0f Ifdtf kfgLsf] eGbf sd x'gfn]  
i.e. 2000 J/kgC 

 
1+0.5 
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6. gfO6«f]hg (N = 2,5) eGbf Snf]/Lg (Cl = 2,8,7) a9L lqmofzLn x'G5 lsgeg] 
gfO6«f]hgnfO{ cfˆgf] aflx/L ;]n k"0f{ u/fpg # cf]6f On]S6«f]g cfjZos 
kb{5 eg] Snf]/LgnfO{ ! cf]6f On]S6«f]g eP aflx/L ;]n k"0f{ x'G5 . # cf]6f 
eGbf ! j6f On]S6«f]g cfsif{0f ug{ sd an cfjZos kb{5 / l56f] 
k|ltlqmof ub{5, To;}n] Snf]/Lg a9L lqmofzLn x'G5 . 

2 

7. 2AgBr            2Ag + Br2   -jf cGo ;xL pQ/_ 
 8. ;+/rgfTds ;'q M OH      OH     OH 

                     
                      H         C         C          C         H 
 
                                 H         H          H        
OyfOn cNsf]xnsf pkof]lutfx? M 
dfbs k]o kbfy{sf] ?kdf k|of]u ul/G5 . 
-jf cGo ;xL pQ/_ 

 
 
 

1 
 
 

1 
 

9. — l86/h]G6 g/d tyf s8f b'a} vfn] kfgLdf 3'ngzLn x'G5 eg] ;fa'g 
g/d kfgLdf dfq 3'ngzLn x'gfn] . 
— l86/h]G6df kmf]x/d}nf 5'6\ofpg] Ifdtf ;fa'gdf eGbf a9L x'gfn] . 

 
1 
1 

10. Kofª\lqmofhn] OGhfOd -kfrg/;_ sf ;fy} xdf]{g -OG;'lng_ klg pTkfbg 
ub{5 cyf{t Kofª\lqmofh OG8f]qmfOg u|GyLsf] ;fy} OShf]qmfOg u|GyLsf] klg 
sfd ub{5 , 

 
 

2 

11. efn] Uofd]6 kf]yL Uofd]6 
!_ ;fgf] x'G5 . 
@_ ;lqmo x'G5 . 

7"nf] x'G5 . 
lgis[o x'G5 . 

jf cGo ldNg] pQ/ n]v]df k|To]ssf] Ps Ps cª\ssf] b/n] hDdf @ cª\s 
lbg] . 

 
1 
1 

12. !_ glthf k|fKt ug{ w]/} jif{ s'g{ kYof]{ . 
@_ dflg;n] k|foM h;f] Ps rf]6Ldf Pp6f dfq ;Gtfg pTkfbg ug]{ ePsf] 

x'gfn] t'ngfTds cWoog ug{ ufx|f] x'GYof] . -jf cGo ;xL pQ/_ 

1 
 

1 

13. !_ cf}Bf]lus kmf]x/d}nf 
@_ cDnjiff{-jf cGo ;xL pQ/_ 

1 
1 

14. — k[YjL / ;f}o{d08n ;DaGwL gof hfgsf/L k|fKt ug{ 
— df};d cg'dfg ug{ 
jf cGo b'O{ p2]Zo n]v]df k|To]ssf] ! cª\ssf] b/n] hDdf @ cª\s k|bfg 
ug]{ . 

1 
1 

15. F1 = 100 N 
F2 = 2000 N 
A2 = 4m2 
A1 = ? 
We know, 
                   

          or,  

           or,  

 
 

0.5 
 

0.5 
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or,      PsfO gn]v]df jf unt PsfO{ n]v]df )=% cª\s 

36fpg] 
uf8L prfNg -jf cGo Pp6f pkof]lutf n]v]df_ 

1 
1 
 
 

16. dfgf}+ k|fOd/L SjfOnsf] ;ª\Vof  
;]s]G8/L SjfOnsf] ;ª\Vof  
OGk'6 ef]N6]h  
cfp6 ef]N6]h  
We have, 
                   

       or,  

         or,  
           
OR ,  
           
PsfO gn]v]df jf unt PsfO{ n]v]df )=% cª\s 36fpg] 
o:tf] k|sf/sf] 6«fG;kmd{/ kfj/ :6]zgdf k|of]u ul/G5 . jf cGo ;lx 
hjfkm n]v]df 

 
 
 
 
 

0.5 
0.5 

 
1 
 
 
 
 
 

1 
 
 

17. i) HNO3 (Nitric acid) or Hcl (Hydrochloric acid) 
ii) NaOH (Sodium hydroxide) or Ca(OH)2 

iii) An ant or honey bee injects formic acid which reacts with soap 
causing neutralization 
iv) All the bases are not soluble in water. 

0.5 
0.5 

 
1 
 

1 
18. ljleGg k|sf/sf s[lif cf}hf/x? — kmnfd 

xjfO{hxfh, kfgL hxfhsf tyf uf8L agfpg —PNd'lgod 
rfFbL — l;Ssf agfpg  -jf cGo Pp6f pkof]lutf n]v]df_ 

1 
1 
1 

19. d'6'sf] leqL agfj6sf] lrq sf]/]df  
bfFof cl/sn / Pcf]6f{ b]vfPdf 

2 
0.5+0.5 

20. o; ljlwdf s/La @ jif{sf] xfFufdf kftx? x6fO{ @–# ;]=dL= nfdf] 
af]qmfnfO{  cf}+7L cfsf/ agfO{ lgsflnG5 . ;fy} af]qmf / sf7df ePsf 
/]zfx? /fd|/L x6fOG5 . kftdf hDdf ePsf] xdf]{g tyf vfgf tn hfg 
gkfO{ h/f pTkfbgdf d2t u5{ . af]qmf lgsflnPsf] 7fpFdf clS;hg lbP/ 
leh]sf] df6f] / ‰ofp ldnfP/ Knfli6sn] xfjf kfgL gk:g] u/L afFwL /fv]/ 
$–* xKtfdf h/f lg:sG5 clg tof/ x'G5 egL n]v]df . 

 
 
 
 
 

3 

21. i)                     

        

       = 4 cm 
 Focal length = f = OF = 4cm 
 
 
 

 
1 
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ii) Natures 
- Real 
- Inverted 
- Magnified 

 
1.5 

 
 
 

22. lrq agfpg] . 

 
 nfOe 6fj/ / UofF; hf/dfq gfdfª\sg u/]df 
;Gt'lnt /f;folgs ;lds/0f 
2NH4Cl(s) + Ca(OH)2 (s)              CaCl2(s) + 2H2Cl + 2NH3(g)   

 
1 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 
 

2 
23. A sf]ifdf /x]sf] k'mn uef{wfg gePsfn] & cf]6f qmf]df]hf]d dfq ePsf]n] 

x]Knf]O8 x'G5 . o;af6 lg:s]sf] nfef{n] # lbg ;Dd /f]on h]nL / # lbg 
dw'/f]6L vfO{ Ko"kfaf6 efn] df}/L aGb5 . 
B sf]ifdf uef{wfg -#@ cf]6f qmf]df]hf]d_ ePsf]n] l8Knf]O8 k'mn x'G5 . 
o;af6 lg:s]sf] nfef{n] nuftf/ %!÷@ lbg ;Dd /f]on h]nL vfO{ Ko"kfaf6 
/fgL df}/L aGb5 . 
C sf]ifdf uef{wfg ePsf l8Knf]O8 k'mn x'G5 . o;af6 lg:s]sf] nfef{n] 
klxnf] # lbg /f]on h]nL / # lbg dw'/f]6L vfO{ Ko"kfaf6 sdL{ df}/L aGb5 
.  

 
 

1.5 
 
 

1.5 
 
 

1 

24. cf]hf]g txsf] ljgf;n] ;"o{af6 lg:sg] xflgsf/s ls/0fx? ;lhn} k[YjL 
;Dd cfpFbf dflg;nfO{ 5fnf ;DaGwL /f]ux?, cfFvf ;DaGwL jf cGo 
:jf:Yo ;D:ofx? b]lvg'sf] ;fy} k[YjLsf] tfks|d ;d]t a9]/ kfl/l:ylts 
k|0ffnL ;d]t vnn x'G5 . 
cf]hf]g tx ;+/If0f ug]{ pkfox? M 
— Snf]/f]ˆnf]/f] sfa{g k|of]u x'g] oGq tyf ;fwgx?sf] k|of]udf sdL 
Nofpg] 
— gfO6«f]hg o'Qm dnsf] k|of]u sd ug]{ 
— ljB'tLo ;jf/L ;fwgx?sf] k|of]udf hf]8 lbg]  
 -JofVof u/]df_  

 
 
 

2 
 
 
 
 
 
 
 

1+1 
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j|mdzM

SEE 2074 (2018)
clgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fg
gof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|md

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6 k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer all the questions.)
;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ (Group 'A')

!=!=!=!=!= tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ . 15x1=15
Write short answer of the following questions.
a. Go'6gsf] u'?Tjfsif{0f;DaGwL ljZjJofkL lgod n]Vg'xf];\ .

State the Newton's universal law of gravitation.
b. pmWj{rfk s]nfO{ elgG5 < (What is upthurst?)
c. pmhf{ ;ª\s6 eg]sf] s] xf] < (What is energy crisis?)
d. ;fdfGo cf“vfsf] nflu 6f9f / glhssf] laGb' slt b"/Ldf x'G5 <

What is the distance of far point and near point for normal eye?
e. ;fwf/0f rfkdf cNsf]xnsf] plDng] laGb' / hDg] laGb' slt x'G5 <

What are the boiling point and freezing point of alcohol at normal pressure?
f. ;+of]hg k|ltlj|mof eg]sf] s] xf] < (What is combination reaction?)
g. sfj{g8fOcS;fO8 Uof; agfpg cfjZos b'O{ /;fogx?sf] gfd n]Vg'xf];\ .

Write two chemicals involved in for preparation of CO2.
h. kmnfdsf] k|d'v wfp s'g xf] < (What is main ore of iron?)
i. ;Gt[Kt xfO8«f]sfa{g eg]sf] s] xf] < (What is saturated hydrocarbon?)
j. ;]/Ll;Nsjd{ s] vfP/ af“Rb5 < (What does serisilkworm feed on?)
k. yfO/f]O8 u|lGyn] pTkGg ug]{ xdf]{gsf] gfd n]Vg'xf];\ .

Name the hormone that is produced by thyroid gland.
l. ;]S; j|mf]df]hf]d eg]sf] s] xf] < (What is sex chromosome?)
m. xfO8«f / :kfO/f]uf/fdf x'g] cd}y'lgs k|hggsf] k|sf/ n]Vg'xf];\ .

Write the types of asexual reproduction in hydra and spirogyra.
n. ;fog eg]sf] s] xf] < (What is scion?)
o. df};d kl/jt{gsf nflu jfo'd08nsf] s'g tx pQ/bfoL x'G5 <

Which layer of the atmosphere is responsible for the change in weather?

;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ (Group 'B') 13x2=26

@= kmnfdsf] 8Nnf] kfgLdf 8'A5 t/ kf/f]df 8'Ab}g, lsg <
Iron ball sinks in water but not in mercury, Why?



j|mdzM

RE-111'DC' (2)

#= ‘lgs6 eljiodf ljZjdf pmhf{ ;+s6 cfpg ;S5’ o; egfOnfO{ k'li6 ug]{ b'O{cf]6f
sf/0fx? n]Vg'xf];\ .
'Energy crisis may occurred in the world in near future.' Write two reasons
to justify this statement.

$= lbOPsf] tflnsf cWoog u/L lgDg k|Zgx?sf] pQ/ lbg'xf];\
Study the given table and answer the following
questions.
i) k|To]s kbfy{sf] a/fa/ lk08 lnO{ ttfP/ ;dfg tfkj|md k'¥ofO{ xfjfdf 5f]8\bf s'grflx“
l56f] ;]nfp“5 < lsg <
Which one gets cooled faster, if equal mass of these three substances are
heated to maintain same temperature and then they are exposed in the
air? Why?
ii) ;a} j:t'sf] a/fa/ lk08 lnO{ ;dfg tfkj|md j[l4 ug{ s'gnfO{ a9L tfkzlQm
rflxG5 < lsg <
Which one of these three substances needs more heat energy to maintain
temperature and why?

%= lkmnfd]G6 aQL / k\mnf]/];]G6 aQLaLr b'O{ km/s n]Vg'xf];\ .
Write two differences between filament lamp and fluorescent lamp.

^= pTk|]/s / k|df]6/aLr s] km/s 5 < pbfx/0f;lxt n]Vg'xf];\ .
What is the difference between catalyst and promoter? Write with example.

&= sfa{g8fOcS;fO8nfO{ w]/} a]/;Dd r'gkfgLdf k7fO/x]df s] x'G5 < ;dLs/0f;lxt n]Vg'xf];\ .
What happens when carbondioxide is passed through lime water for a
long time? Write with equation.

*= tnsf wfpx?af6 k|fKt ug]{ wft'x? klxrfg ug'{xf];\ .
Identify the metals obtained from the following ores.
(i) aS;fO6 (Bauxite) (ii) l;Ne/ sk/ UnfG; (Silver copper glance)
(iii) DofUg]6fO6 (Magnetite)       (iv) rfNsf]kfO/fO6 (Chalcopyrite)

(= ;Gt[Kt / c;Gt[Kt xfO8«f]sfa{gaLr b'O{cf]6f leGgtf n]Vg'xf];\ .
Write any two differences between saturated and unsaturated hydrocarbon.

!)= df}/LnfO{ ;fdflhs ls/f elgG5 , lsg < b'O{cf]6f sf/0f lbg'xf];\ .
Why is honey been called social insect? Give two reasons.

!!= xdf]{gnfO{ /f;folgs ;+jfbbftf klg elgG5, lsg < pbfx/0f;lxt n]Vg'xf];\ .
Why are hormones called chemical messengers? Write with example.

Substance  Specific heat capacity
       X      138J/kgOC
       Y      380J/kgOC
       Z      470J/kgOC



j|mdzM

(3) RE-111'DC'

!@= Pp6L dlxnfsf] j|mdzM rf/cf]6L 5f]/Ldfq eP t/ 5f]/f ePgg\ . s] p;sf] >Ldfg\sf] :kd{df
Y j|mf]df]hf]d 5}g < j0f{g ug'{xf];\ .
A woman has got only four daughters but not son. Does it mean that the
husband do not produce 'Y' chromosome bearing sperm? Explain it.

!#= jfo'k|b"if0f lgoGq0fdf af]6la?jfn] v]Ng] b'O{cf]6f e"ldsf pNn]v ug'{xf];\ .
Write the two roles played by plants in controlling air pollution.

!$= hLjfjz]if s;/L aGb5 < 5f]6s/Ldf n]Vg'xf];\ .
How are fossils formed? Write in brief.

;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ (Group 'C') 6x3=18
!%= Pp6f pNsf k[YjLtkm{ vl;/x]sf] 5 . olb k[YjLsf] lk08 / cw{Jof; qmdzM 6x1024 kg /

6.4x103 km eP k[YjLsf] ;txaf6 slt prfOdf pNsfsf] u'?Tjk|j]u 4 m/s2  x'G5 <
sf]Onf vfgLsf] leqkl§ hf“bf j:t'sf] tf}n 36\5, lsg <
A meteor is falling towards the Earth. If mass and radius of the earth are
6x1024 kg and 6.4x103 km respectively. Find the height of meteor from the
earth's surface where its acceleration due to gravity becomes 4 m/s2. The
weight of a body decreases in a coal mine, why?

!^= lbOPsf] lrqdf cf“vfsf] sdhf]/L cjnf]sg ug'{xf];\ / lgDglnlvt
k|Zgx?sf] pQ/ lbg'xf];\ .
Observe the defect of vision in the given diagram and
answer the following questions.
i) of] sdhf]/L x'g'sf] sf/0f s] xf] < (What is the cause of this defect?)
ii) of] sdhf]/L s;/L ;'wf/ ug{ ;lsG5 < lrqaf6 b]vfpg'xf];\ .
How can this defect be corrected? Illustrate with a ray diagram.

!&= DofUg]l;od l/agnfO{ s;/L cNsfnL agfpg ;lsG5 < k|ltlj|mof;lxt s'g} Pp6f pkof]lutf
n]Vg'xf];\ .
How is magnesium ribbon made alkali? Write any one use of it with the reaction.

!*= ;fwf/0f sf“r s;/L agfOG5 < o;sf] s'g} Ps pkof]u n]Vg'xf];\ .
How is ordinary glass made? Write any one use of ordinary glass.

!(= /utsf] agf]6sf] lrq sf]/L rf/cf]6f cjojx?sf] gfdfª\sg ug'{xf];\ .
Draw the structure of blood and label its four components.

@)= kl/j[lQn] ubf{ gof“ hfltsf] pTklQ s;/L x'G5 < JofVof ug'{xf];\ .
How does the new species are produced due to variation? Explain.



RE-111'DC' (4)

;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ (Group 'D') 4x4=16
@!= lrqdf Pp6f 6«fG;kmd{/ b]vfOPsf] 5 .

A transformer is shown in the figure.
i) A / B efusf] gfdfª\sg ug'{xf];\ .
   Label the parts A and B.
ii) of] s'g k|sf/sf] 6«fG;kmd{/ xf] / lsg <
Which type of transformer is it and why?)
iii) ‘6«fG;kmd{/ljgf cN6/g]l6ª s/]G6sf] pkof]u ;Lldt x'G5’ k'li6 ug'{xf];\ .
'The use of alternating current (a.c.) is limited without transformer.' Justify it.

@@= tn lbOPsf] k]l/of]l8s tflnsfsf] Pp6f c+z cWoog u/L ;f]lwPsf k|Zgx?sf] pQ/
lbg'xf];\ .
Study the part of periodic table given below and answer the questions:
IA IIA IVA VA VIA VIIA O
Li Be  C  N   O   F Ne
Na Mg Sl  P   S   Cl Ar

i) clt ;lj|mo wft' / clt ;lj|mo cwft'sf ;d"xx? s'g–s'g x'g\ <
Identify the group of very active metal and very active non-metal.
ii) tŒj 'S' sf] ;a;]nsf] cfwf/df On]S6«f]g ljGof; ug'{xf];\ .
Write the electronic configuration of element 'S' in sub-shell
iii) Li eGbf Na a9L ;lj|mo x'G5, lsg <
Why Na is more active than element Li?
iii) tŒj 'Cl' sf] cf0fljs ;+/rgfsf] lrq agfpg'xf];\ .
Sketch the atomic structure of Cl.

@#= jfo'k|b"if0fn] jg:kltsf] h}ljs ljsf;df afwf k'¥ofpg'sf] ;fy} dflg;sf] :jf:Yodf gsf/fTds
c;/ kf/]sf] b]lvG5 . o; egfOnfO{ k'li6 ug{ rf/cf]6f ts{x? k|:t't ug'{xf];\ .
Air pollution inhibits in biological growth of plants, as well as produces
adverse effect on human health. Justify this statement with four reasons.

@$= cf]hf]g tx lgdf{0f x'g] / ljgfz x'g] sfo{nfO{ /f;folgs ;dLs/0f;lxt JofVof ug'{xf];\ .
Explain the formation and depletion of ozone layer with the chemical
reaction.
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dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

ljifoM clgjfo{ lj1fg 
k"0ff{ª\sM– &% 
 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . k/LIfsn] 
pTt/sf] z'¢tf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ cg';f/ ;xL, :ki6, 
pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] lgb]{z u/]sf] kl/lw / ;Ldfleq /xL 
d"Nofª\sg ug'{kg]{ 5 .  

Q.No. pQ/ Marks 

1. 

a. a|Xdf08df /x]sf s'g} b'O{ j:t'x? aLr pTkGg x'g] u'?Tjfsif{0f an tL j:t'sf 
lk08x?sf] u'0fgkmn;+u ;dfg'kflts / tL j:t'x?sf s]Gb| aLrsf] b'/Lsf] ju{;Fu 
Jo'Tj|mdfg'kflts x'G5 . 

b. t/n kbfy{n] a:t'\nfO{ dflylt/ ws]Ng] kl/0ffdfTds an  
c. b}lgs hLjgdf k|of]usf nflu phf{sf] cefj x'g' 
d. 6f9fsf] ljGb' — cgGtdf / glhssf] ljGb' — 25cm  
e. pDng] ljGb' 78C / hDg] laGb' -117 
f. b'O{ jf b'O{eGbf a9L tTjx? ldnL of}lus agfpg] k|s[ofnfO{ ;+of]hg k|ltlj|mof 

elgG5 . 
g. CaCO3   

  HCl  
h. x]df6fO6 
i. C-C l;Ën a08 eO{ ag]sf] xfO8«f]sfa{gnfO{ ;Dt[Kt xfO8«f]sfa{g elgG5 . 
j. lsDa'sf] kft 
k. yfO/f]lS;g  
l. lnË lgwf{/0f ug]{ qmf]df]hf]dnfO{ sex chromosome elgG5 . 
m. xfO8«f–al8ª / :kfO/f]ufO/f–k|mfUd]G6];g 
n. Grafting ljlwdf b'O{cf]6f ljleGg la?jfx? Ps cfk;df ufF;]/ gofF la?jf 

pTkfbg ul/G5, h;df dflyNnf] efusf] la?jfnfO{ ;fog elgG5 . 
o. lgDg d08n 

 
1 
 

1 
1 

0.5+0.5 
0.5+0.5 

 
1 
 

0.5+0.5 
 

1 

1 

1 

1 

0.5+0.5 
 

1 
1 

2. kmnfdsf] 3gTj kfgLsf] eGbf a9L x'G5 To;}n] kmnfd kfgLdf 8'A5 . kmnfdsf] 
3gTj kf/f]sf] 3gTj eGbf sd x'G5, To;}n] 8'Ab}g .  

1 
1 

3. — hg;ª\Vof j[l4, cf}Bf]lusLs/0f / zx/Ls/0fn] ubf{ phf{sf ;|f]tx?sf] dfudf 
j[l4 x'g' 

— phf{sf j}slNks ;|f]tx?sf] ljsf; tyf k|of]u sd x'g' 

 
1 
1 

4. i) j:t' X l56f] ;]nfpF5 lsgeg] o;sf] ljlzi6 tfkwf/0f zlQm ;a}eGbf sd 5 . 
ii)  Z nfO{ al9 tfk rflxG5, lsgeg] o;sf] ljlzi6 tfkwf/0f zlQm ;a}eGbf al9 5 . 

1 
1 

5. lkmnfd]G6 aQL (Filament lamp) ˆnf]/];]G6 aQL(Fluorescent lamp) 
— o;n] 10% ljB't zlQmnfO{ — o;n] 30% ljB't zlQmnfO{ 
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k|sfz zlQmdf kl/0ft u5{ . 
— 6ª:6]g lkmnfd]G6 tft]/ k|sfz 
lbG5 . 

k|sfz zlQmdf kl/0ft u5{ . 
— ˆnf]/];]G6 kfp8/ k|Hjlnt eO{ 
k|sfz lbG5 . 

 

1 
 

1 
 

6. — /f;folgs k|ltlqmofsf] b/nfO{ cfjZostf cg';f/ l56f] jf l9nf] agfpg] 
/;fognfO{ pTk|]/s elgG5 . 

— pTk|]/ssf] Ifdtf j[l4 ug{ k|of]u ul/g] /;fognfO{ k|df]6/ elgG5 . h:t} – NH3 
UofF; agfpFbf Fe nfO{ pTk|]/s / Mo nfO{ k|df]6/sf] ?kdf k|of]u ul/G5 . 

0.5 
0.5 
0.5 
0.5 

7.  sfa{g8fOcS;fO8nfO{ w]/}a]/;Dd r'gkfgLdf k7fpFbf klxn] b'lwnf] x'G5 / kl5 
b'lwnf]kgf x/fpF5 . 
CO2 + Ca(0H)2           CaCO3 + H2O 
CaCO3 + H2O + CO2         Ca(HCO3)2 

 
1+1 

8. i) aS;fO6 – cfn'ldlgod (Al) 
ii) l;Ne/ sk/ UnfG; –l;Ne/ (Ag) 
iii) DofUg]6fO6 – kmnfd (Fe) 
iv) rfNsf]kfO/fO6 – tfdf (Ca) 

0.5 
0.5 
0.5 
0.5 
 

9. ;Gt[Kt c;Gt[Kt xfO8«f]sfa{g 
!_ b'O{ sfa{g k/df0f'sf] aLrdf 

Pp6fdfq a08 (Single Bond) 
x'G5 . 

@_ sd lqmofzLn x'G5g\ . 

b'O{ sfa{g lar b'O{ jf tLg cf]6f 
a08 (Double or tripple Bond) 
x'G5 . 
a9L lqmofzLn x'G5g\ . 

 

 
 

1 
 

1 

10. i) df}/Lx? ;ª\ul7t ?kdf ;d"xdf a:b5g\ .  
ii) df}/Lx? aLr pRr:t/Lo >dljefhg eP/ cf–cfˆgf] sfo{x? ub{5 . 

1 
1 

11. xdf]{g z/L/sf] Pp6f cª\udf pTkGg x'G5 / z/L/sf] cGo cª\u / efudf uP/ sfd 
ug{ pTk|]l/t ub{5 . pbfx/0fsf] nflu a[l4 xdf]{g lk6o'6/L u|GyLaf6 pTkfbg eO{ 
z/L/ssf] cGo efusf] j[l4df d2t ub{5 . 

 
 

1+1 

12. x}g, o;sf] cy{ p;sf] >Ldfgsf] :kd{df 'Y' qmf]df]hf]d 5}g eGg ldNb}g . aRrfsf] 
lnª\usf] lgwf{/0f :kd{df ePsf] qmf]df]hf]dsf] k|sf/df lge{/ ub{5 . cf]eddf 'X' 
qmf]df]hf]d dfq x'G5 t/ :kd{df oft 'X' qmf]df]hf]d x'G5 oft  'Y' qmf]df]hf]d x'G5 . 
'X' qmfdf]hf]d ePsf] :kd{ cf]ed;+u uef{wfg x'Fbf 5f]/L x'G5 eg] 'Y' qmf]df]hf]d ePsf] 
:kd{ kf]yL;+u uef{wfg x'Fbf 5f]/f x'G5 . To;}n] 'Y' qmf]df]hf]d gePsf] eGg ldNb}g . 

 
 
 
 
 

2 
13. i) af]6 lj?jfn] jfo'd08ndf ePsf] sfa{g8fOcS;fO{8 lng] ub{5 . h;n] ubf{ 

jfo'd08ndf sfa{g8fO{cS;fO8sf] dfqf ;Gt'lnt x'g hfG5 . 
ii) af]6 lj?jfn] k|sfz ;+Zn]if0fsf] a]nfdf clS;hg 5f]8\b5 h;n] ubf{ jfo'd08ndf 
clS;hgsf] dfqf sd x'gaf6 arfpFb5 . 

 
1 
 

1 

14. d/]sf hgfj/ jf af]6lj?jfx? vf]nfgfnf jf af9Ln] aufP/ ;d'b|df k'¥ofpF5 . To:t} 
;d'b|df d/]sf k|f0fLx? klg ;d'b|sf] ulx/f] efult/ tn lk+Fwdf uP/ hDdf x'g 
yfNb5g\ . o:tf j:t'x? dfly df6f], afn'jf hDdf x'g yfNb5 . o;/L hDdf ePsf] 
j:t'n] ubf{ d[tk|f0fLx?sf] z/L/ lylrg / blag yfNb5 . z/L/sf] d'nfod efu ;8]/ 
/ un]/ hfG5g\ / xf8 ;]n'nf]h sf7sf s8f efun] s]xL vlgh / nj0f ;f];]/ lnG5g\ 
/ cem} s8f eO{ hLjfjz]ifsf] ?kdf kl/0ft x'G5 . 

 
 
 
 
 

2 
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15. Here,   
        (M) = 6 × 1024kg 
R = 6.4 × 103km = 6.4 × 106m 
g = 4m/sec2 
G = 6.67 × 10-11Nm2/kg2 
Now, g =   

or g  

or  
or h = 3.6  
        
sf]Onf vfgL ulx/fOdf x'g] ePsfn] k[YjLsf] ;txeGbf sd prfOdf g sf] dfg 36\5 
. To;}n] sf]Onf vfgLdf j:t'sf] tf}n sd x'G5 . 

 
 

0.5 
 

0.5 
 

0.5 
0.5 

 
 
 

1 

16. ii) sf/0fx? 
— cfFvfsf] l;lno/L df+;k]zL tGsg' 
— n]G;sf] s]Gb|Ls/0f b'/L 36\g' 
iii) pko'Qm ;fdYo{ ePsf] sGs]e n]G;sf] k|of]u u/]/ 
 lrq M cb'/ b[li6 ;'wfl/Psf] cfFvf 

1 
 
 

1 
1 

17. DofUg]l;od l/agnfO{ xfjfdf afNbf DofUg]l;od cS;fO{8 aGb5 h;nfO{ kfgLdf 
3f]Nbf DofUg]l;od xfO8«f]cS;fO{8 aG5 h;nfO{ cNsfnL elgG5 . k|ltlj|mof —  
2Mg + O2                               2MgO 
MgO + H2O                   Mg(OH) 2        cNsfnL 
DofUg]l;od xfO8«f]cS;fO{8 
pkof]u — 
k]6df clDnodg a9]sf] a]nf ;]jg ug]{ .  

 
 

1 
 
 

1 
1 

18. l;lnsf ;+u ;f]l8od sfaf]{g]6 / SoflN;od sfaf]{g]6 ldnfO{ ttfpFbf ;fwf/0f sfFr 
aGb5 .  
50% l;lnsf 
15% ;f]l8od sfaf]{g]6                     
10% SoflN;od sfaf]{g]6                     
25% sfFrsf 6\qmfx? 
pkof]u — 
af]tn, k|sfzgnL, ‰ofn cfbL . 

 
 
 
 

2 
 
 
 

1 
19. lrq agfPdf  

$ cf]6f cjoj n]v]df k|To]s cjojsf] )=% sf b/n] hDdf 
 

1 
2 
 
 
 
 
 

20. kl/j[lQn] ubf{ Pp6f j+zaf6 csf{] j+zdf hfFbf gofF leGg u'0fx? ljsl;t x'Fb} hfG5g\ 
. j+zfg'ut / jftfj/0fLo leGgtfsf] sf/0fn] nfdf] ;dosf] cGt/fndf Pp6f hLj 
lj:tf/} kl/jt{g x'Fb} uO{ gofF hfltdf ?kfGtl/t x'G5 egL JofVof u/]df .  

 
 

3 

ld;fO{ 800C tfkqmddf ttfpFbf 

RBC 

WBC 

Platelets 

Plasma 



RE-111 DC 

UV rays 

21. A – Primary Coil  
B  – Secondary Coil    
:6]k–ck 6«fG;kmd{/ xf], lsgsL o;df k|fOd/L SjfOnsf] eGbf ;]s]G8/L SjfOnsf] 
;ª\Vof a9L 5 . 
cN6/g]l6ª s/]G6 k|;f/0f ubf{ ef]N6]h a9fpg' kb{5 eg] 3/df pkof]u ubf{ ef]N6]h 
36fpg' kb{5 . oL b'a} sfo{sf nflu 6«fG;kmd{/sf] cfjZos kb{5 . 6«fG;kmd{/ lagf 
cN6/g]l6Ë s/]G6sf] ef]N6]h 36a9 ug{ ;ls+b}g . To;sf/0f 6«fG;kmd{/ lagf 
cN6/g]l6Ë s/]G6sf] pkof]u l;ldt x'G5 . 

0.5 
0.5 

 
0.5+1 

 
 
 

1.5 

22. i) clt;lqmo wft' — Group I A 
  clt;lqmo cwft' — VII A 
ii) S = 1s22s22p63s23p4 
iii)  Na a9L ;lqmo x'G5 . lsgls kf/df0fljs cfsf/ a9\5 . 
iv)   
 
 
 
 
 

 
1 
1 
1 
1 

23. i) jfo' k|b'if0fn] ubf{ jftfj/0fdf sfa{g8fOcS;fO{8sf] dfqf a9\gfn] dflg;x?df 
Zjf;k|Zjf; lqmofdf afwf k'¥ofpF5 . 
ii) jfo' k|b"if0fn] ubf{ jfo'd08ndf k|b"ifssf] dfqf a9\bf ;f}o{ ljls/0fsf] sdL x'G5 
h;n] ubf{ af]6lj?jfsf] kftdf ePsf] :6f]df6f v'Ng kfpFb}}g / af]6lj?jfnfO{ vfgf 
agfpg ufx|f] x'G5 . 
iii)  jfo' k|b'if0fn] ubf{ df6f]sf] clDnokg a9\5 h;n] ubf{ af]6lj?jfsf] ljsf;df 
afwf k'¥ofpF5 . 
iv)  jfo' k|b"if0fn] ubf{ dflg;x?df ljleGg k|sf/sf /f]ux? h:t} cfFvf kf]Ng], 
a|f]GsfO{l6;, SofG;/ cflb x'g] ;Defjgf a9L x'G5 . 

1 
 
 

1 
 
 

1 
 

1 
 
 24. cf]hf]g tx aGg] k|lj|mof M 

O2                           O + O 
O2 + O                         O3 
cf]hf]g tx ljgfz x'g] k|lj|mof 
 C F2 Cl3                         CF Cl2 + Cl 
Cl + O3                        O2 + Cl O 
2Cl O                              2Cl + O2 

 

cf]hf]g tx lgdf{0f / ljgf; x'g] k|lj|mof j0f{g u/]df k|To]ssf] Ps Ps cª\ssf 
b/n] hDdf 

1 
 
 

1 
 
 
 
 

2 

 

UV rays 

17N 

UV rays 

UV rays 



Symbol No. ................ RE-111

j|mdzM

SEE 2074 (2018)
clgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fg

-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_
lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6;do M @ 3G6f !% ldg]6 k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.

ef}lts lj1fg ef}lts lj1fg ef}lts lj1fg ef}lts lj1fg ef}lts lj1fg (Physics)
!= -s_ s'g} j:t' afx\o cj/f]wlagf v:g'nfO{ s] elgG5 < u'?Tj an / u'?Tj k|j]uaLr s'g}

b'O{ leGgtf n]Vg'xf];\ . rGb|df / k[YjLsf] lk08 j|mdzM  72 x 1021 kg / 6x1024 kg
5 . rGb|df / k[YjLaLrsf] b"/L 36x108 m 5 . olb tL b'O{ j:t'x?aLrsf] u'?Tjfsif{0f
an 2.2 x1018 N 5 eg] u'?Tjfsif{0f cr/ ;ª\Vof lgsfNg'xf];\ . 0.5+2+2=4.5
What does it call if an object falls without any external resistance?
Write any two differences between gravity and acceleration due to
gravity. Mass of the Moon and the Earth are 72 x 1021 kg  and
6x1024 kg respectively. The distance between the Moon and the Earth
is 36x108 m. If the force of attraction between these two bodies is 2.2
x1018 N , calculate the gravitational constant.

-v_ cgjLs/0fLo pmhf{sf] ;|f]t eg]sf] s] xf] < ;"o{df Go'lSno/ km\o'hg k|ltlj|mof x'gsf nflu
cfjZos s'g} b'O{cf]6f cfwf/x? n]Vg'xf];\ . 1+3=3
What is non-renewable source of energy? Write any two bases for
the nuclear fusion reaction in the sun.

@= -s_ pmWj{rfk eg]sf] s] xf] < j:t'x? t/n kbfy{df t}/g] b'O{cf]6f cj:yfx? n]Vg'xf];\ .
xfO8«f]]ld6/sf] k|of]u s]sf nflu ul/G5 <  1+2+1=4
What is upthrust? Write two conditions on which object floats on liquid.
For what purpose hydrometer is used?

-v_ (i)  lbOPsf] xfO8«f]lns k|];sf] lrqdf olb gnL
A / B sf] j|m; ;]S;g If]qkmn j|mdzM 0.5m2

/ 10m2 5g\ eg] gnL B df /x]sf] 1000 N
sf] nf]8 ;Gt'ng ug{ gnL A df slt Okmf]6{
nufpg'k5{ <
In the given figure of hydraulic press, if the cross section area of
cylinder 'A' and 'B' are 0.5m2 and 10m2 respectively, what magnitude
of effort is to be applied on cylinder 'A' to balance the load of 1000N
on cylinder 'B'?

B

Load=1000N

A

kfgL (Water)



j|mdzM

RE-111 (2)
(ii)  of] oGq s'g l;4fGtdf cfwfl/t 5 < pQm l;4fGt n]Vg'xf];\ .
On what principle does this machine base? State the principle.

#= -s_ kmnfdsf] ljlzi6 tfkwf/0f Ifdtf 470J/kgOC x'G5 eGg'sf] cy{ s] xf] < Pp6f 500g
lk08 ePsf] kmnfdsf] tfjfaf6 4700J tfkzlQm x6fpg] xf] eg] tfjfsf] tfkj|mddf slt
kl/jt{g cfp“5 < u0fgf ug'{xf];\ . 1+2=3
The specific heat capacity of iron is 470J/kgO C. What does it mean?
Calculate the change in temperature of an iron pan of mass 500g if 4700J
of heat energy is removed from it.

-v_ cb"/b[li6 eg]sf] s] xf] < sGe]S; n]G; / sGs]e
n]G;aLr agf]6sf] cfwf/df leGgtf n]Vg'xf];\ . lbOPsf]
lrqnfO {  pQ/k ' l :tsfdf ;f/ ]/ / ]vf lrq
k"/f ug'{xf];\ . algPsf] cfs[ltsf] tLgcf]6f :jefj klg
pNn]v ug'{xf];\ .                1+1+1+1.5=4.5
What is short sightedness? Give a difference between convex and
concave lens on the basis of their shape. Redraw the given diagram
and complete the ray diagram. Also write three natures of the image
thus formed.

$= -s_ tLgcf]6f 1.5 ef]N6sf 8«fO;]nx?nfO{ ljB't\ kl/kydf ;dfgfGt/Lo h8fg ul/Psf] lrq
sf]g'{xf];\ . olb tL ;]nx?nfO{ >]0fLj|md ?kdf hf]8]df k|fKt x'g] ljB't\ rfk kQf
nufpg'xf];\ . ljB't\ o'lg6 vkt lgsfNg] ;"q n]Vg'xf];\ . lkmnfd]G6 aQLleq 6ª\:6]g
wft's} lkmnfd]G6 k|of]u ul/g'sf k|d'v b'O{ sf/0fx? n]Vg'xf];\ . 1+1+0.5+2=4.5
Draw an electric circuit for connection of three dry cells of 1.5 volts in
a parallel connection. Calculate the potential difference of these cells
if they are connected in series combination. Write the formula of electric
unit consumption. Write two main reasons for use of tungsten wire as
filament in filament bulb.

-v_ h]g]/]6/ / ljB't\ df]6/aLr s'g} b'O{cf]6f leGgtf n]Vg'xf];\ . :6]k 8fpg 6«fG;kmd{/sf]
Pp6f pkof]lutf n]Vg'xf];\ . 2+1=3
Write any two differences between generator and electric motor. Write
one use of step down transformer.

/;fog lj1fg /;fog lj1fg /;fog lj1fg /;fog lj1fg /;fog lj1fg (Chemistry)
% -s_ cfw'lgs k]l/of]l8s tflnsfsf] ;d"x VIIA/k]l/of]8 3 df kg]{ tŒjsf] pk;]nsf]

cfwf/df On]S6«f]g ljGof; n]Vg'xf];\ . o; tŒj / ;f]l8od wft'aLr x'g] /f;folgs
k|ltlj|mofsf] ;Gt'lnt ;dLs/0f klg n]Vg'xf];\ . 1+2=3

A
B
2 F F F 2 F



j|mdzM

(3) RE-111
Write electronic configuration of the element of group VIIA/period 3
of the modern periodic table on the basis of sub-shell. Also write
balanced chemical equation of the chemical reaction between this
element and sodium metal.

-v_ s'g Uof; r'gkfgLdf k7fp“bf b'lwnf] /ªdf kl/jt{g x'G5 < pQm Uof; k|of]uzfnfdf agfpg]
ljlwsf] lrq agfO{ s'g} b'O{ efusf] gfd n]Vg'xf];\ . 8fOyfOn Oy/sf] ;+/rgfTds ;"q
n]Vg'xf];\ . 0.5+3+1=4.5
Which gas changes lime water into milky colour on passing through it?
Draw diagram of laboratory preparation of that gas and label any two
parts. Write structural formula of diethyl ether.

^= -s_ aS;fO6 wfpaf6 s'g wft' k|fKt ul/G5 < ;f] wft' / lkmSsf xfO8«f]Snf]l/s cDnaLr
x'g] /f;folgs k|ltlj|mofsf] ;Gt'lnt ;"q ;dLs/0f n]Vg'xf];\ . t6:y kbfy{sf] PH dfg
slt x'G5 <   0.5+2+1=3.5
Which metal is extracted from bauxite ore? Write balanced equation of
the chemical reaction between that metal and dilute hydrochloric acid.
What is the PH value of neutral substance?

-v_ l;d]G6 pTkfbg ug]{ sRrf kbfy{x? s]–s] x'g\ < ydf]{Knfli6s / ydf]{;]l6ª Knfli6saLr
b'O{cf]6f leGgtf n]Vg'xf];\ . ‘l86/h]G6eGbf ;fa'g jftfj/0fd}qL x'“bfx'“b} klg l86/h]G6sf]
k|of]u lbgfg'lbg a9\b}5’ o; egfOnfO{ b'O{ a'“bfdf k'li6 ug'{xf];\ . 1+2+1=4
What are the raw materials for manufacturing cement? Write two
differences between thermoplastic and thermosetting plastic. 'Though
soap is more environmental friendly than detergent but the use of
detergent is increasing day by day.' Justify the statement with two
points.

hLj lj1fg hLj lj1fg hLj lj1fg hLj lj1fg hLj lj1fg (Biology)

&= -s_ efO/; eg]sf] s] xf] < ;]/]a|f]:kfOgn k\mn'8 sxf“ x'G5 < OShf]j|mfOg / OG8f]j|mfOg
u|lGyaLr s'g} b'O{ leGgtfx? n]Vg'xf];\ . 1+1+2=4
What is virus? Where does cerebrospinal fluid located? Write any two
differences between exocrine and endocrine glands.

-v_ ;]tf /Qms0fsf] ;ª\Vof cf};teGbf a9L ePsf] sf/0fn] nfUg] /f]usf] gfd s] xf] < /utdf
kfOg] kmfOla|gf]h]g / Unf]a'lngsf] e"ldsf s]–s] x'g\ < kNdf]g/L wdgLsf] sfo{
n]Vg'xf];\ . 0.5+1+1+1=3.5
Name the disease caused due to increased number of white blood
cells than average. What are the roles of fibrinogen and globulin found
in blood? Write a function of pulmonary artery.



RE-111 (4)
*= -s_ l;glK;; eg]sf] s] xf] < lbOPsf] lrqdf s'g k|sf/sf] sf]if ljefhg /

s'g cj:yfdf b]vfOPsf] 5 < o; cj:yfsf b'O{cf]6f nIf0fx?
n]Vg'xf;\ .                                       1+1+2=4
What is synapsis? Which type of cell division and what
stage is shown in given diagram? Write two features of
this stage.

-v_ :6fd]gsf] b'O{ efux?sf] gfd n]Vg'xf];\ . cd}y'lgs k|hggsf s'g} b'O{cf]6f ljz]iftfx?
pNn]v ug'{xf];\ . plgp“sf] hLjgrj|mdf plgp“sf] la?jf -:kf]/f]kmfO6_ nfO{ k|d'v r/0f
dflgg'sf] sf/0f :ki6 kfg'{xf];\ . 1+1+1.5=3.5
Write the name of two parts of stamen. Mention any two features of
asexual reproduction. Clarify the reason behind the sporophyte being
the dominant generation in the life cycle of fern.

(= -s_ gfO6«f]hg rj|mdf gfOl6«kmfOª AofS6]l/ofsf] e"ldsf :ki6 kfg'{xf];\\ . uf]nf] (RR) /
rfpl/Psf] (rr) s]/fpsf] lapaf6 lg:s]sf] la?jfaLr j|m; u/fp“bf F2 j+z;Dd k|fKt x'g]
glthfsf] rf6{ b]vfpg'xf];\ . F2 j+zdf x'g] lkmgf]6fOk / lhgf]6fOksf] cg'kft klg
n]Vg'xf];\ . 2+1.5+1=4.5
Clarify the role of nitrifying bacteria in nitrogen cycle. Draw a chart
showing the cross between plants from round seeded (RR) and
wrinkled  seeded (rr) pea plant till F2 generation. Also write the
phenotypic and genotypic ratio of F2 generation.

-v_ dflg;sf] juL{s/0f ug'{xf];\ . ds}sf] la?jf / tf]/Lsf] la?jfaLr ltgsf h/f / kftsf]
cfwf/df b'O{cf]6f leGgtf 5'6\ofpg'xf];\ . 1+2=3
Classify human. Write two differences between maize plant and
mustard plant on the basis of their roots and leaves.

e"–lj1fg tyf cGtl/If lj1fg e"–lj1fg tyf cGtl/If lj1fg e"–lj1fg tyf cGtl/If lj1fg e"–lj1fg tyf cGtl/If lj1fg e"–lj1fg tyf cGtl/If lj1fg (Geology and Astronomy)

!)= -s_ xfd|f]  ;f}o{d08n /x]sf] tf/fk'~hsf] gfd lbg'xf];\ . tf/fdf eO/xg] kl/jt{g b/ s]df
e/ kb{5 . dWohLj dxfsNk (Mesozoic era) nfO{ sltcf]6f sfndf ljefhg
ul/Psf] 5 < ;a}eGbf kl5Nnf] sfn s'g xf] < pQm ;dosf] dxŒjk"0f{ 36gf s] xf] <

0.5+2+0.5+0.5+1=4 .5
Name the galaxy in which our solar system lie. On what factors do the
rate of change in the star depends? In how many periods do the
mesozoic era divided? Which one is the later period and what is the
major event of that period?

-v_ cDn jiff{ eg]sf] s] xf] < cf]hf]g txsf] ljgfzaf6 dfgj :jf:Yodf kg]{ s'g} b'O{cf]6f
c;/x? n]Vg'xf];\ . 1+2=3
What is acid rain? Write two effects on human health due to depletion
of ozone layer.



RE-111 old course 

dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

ljifoM clgjfo{ lj1fg 
k"0ff{ª\sM– &% 
 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . k/LIfsn] 
pTt/sf] z'¢tf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ cg';f/ ;xL, :ki6, 
pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] lgb]{z u/]sf] kl/lw / ;Ldfleq /xL 
d"Nofª\sg ug'{kg]{ 5 .  

k|Zg 
g+= 

pQ/ c+s 

!= 

s_ :jtGq v;fO{ 
u'?Tjjn u'?Tj k|j]u 

i) s'g} j:t'nfO{ k[YjLn] cfˆgf] 
s]Gb|lt/ cfsif{0f ug]{ jn . 

ii) o;sf] PsfO{ Go'6g (N) xf] . 

i) u'?Tjjnn] ubf{ k[YjLdf v;]sf] 
a:t'df pTkGg x'g] k|j]u . 

ii) o;sf] PsfO{ ld6/ k|ltju{ ;]s]G8 
(m/s2) xf] . 

lbOPsf],  
       rGb|dfsf] lk08 (m1) = 72×1021kg 
        k[YjLsf] lk08 (m2) = 6×1024kg 
                                 b"/L (d) = 36×108m 
                                        (F) = 2.2×1018N 
                                         G = ? 
We have, ܨ = ீ௠భ௠మ

ௗమ
 

ܩ                  = ி×ௗమ

ௗమ
 

          = ଶ.ଶ×ଵ଴భఴ×൫ଷ଺×ଵ଴ఴ൯మ

଻ଶ×ଵ଴మభ×଺×ଵ଴మర
 

          = ଶ.ଶ×ଷ଺×ଷ଺×ଵ଴భఴశఴశఴ

଻ଶ×଺×ଵ଴మభశమర
 

             = 6.6 × 10ିଵଵܰ݉ଶ/݇݃ଶ 
v_ cgjLs/0fLo phf{sf] ;|f]t eg]sf] sf]Onf, vlgh t]n, k|fs[lts UofF; cflb 
phf{sf ;|f]t hf] Psk6s ;dfKt ePkl5 km]l/ aGg w]/} jif{ nfUb5 . 
;"o{df Go'lSno/ ˆo'hg x'g] cfwf/x? M 
i) cTolws tfk x'g' . 
ii) cTolws rfk x'g'. 

-jf cGo ;xL pQ/_ 

)=% 
 
 
! 
 
! 
 
 
 
 
 
 

)=% 
 
 
 
 

!=% 
 
 
! 
 
! 
! 

@= 

s_ s'g} klg j:t'nfO{ t/n kbfy{df 8'afpFbf To; j:t'nfO{ dflylt/ ws]Ng] 
kl/df0ffTds jnnfO{ pWj{rfk elgG5 .      

i) j:t'sf] 3gTj t/nsf] 3gTjeGbf sd ePdf . 
ii) j:t'n] cfˆgf] tf}n a/fa/sf] kfgL lj:yfkg u/]df . 

 
! 
! 
! 
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iii) t/n kbfy{sf] ;fk]lIfs 3gTj gfKg xfO8«f] ld6/sf] k|of]u x'G5 . 
v_  

i) lbOPsf], 
       Area AA = 0.5 m2 

                     Area AB = 10 m2 

                    Force FB = 1000 N 
                    Force FA = ? 
We know, ிಳ

ிಲ
= ஺ಳ

஺ಲ
 

           or, ܨ஺ = ிಳ×஺ಲ
஺ಳ

 

                      = ଵ଴଴଴×଴.ହ
ଵ଴

 
                     = 50 N 

ii) kf:snsf] l;4fGt 
   aGb efF8fdf /x]sf] t/n kbfy{df s'g} Ps 7fpFdf rfk lbOof] eg] Tolt g} 
rfk ;a}lt/ nDa eP/ k|;f/0f x'G5 . 

! 
 
 
 
 
 
 

)=% 
 

 
!=% 

 

)=% 
 
! 

#= 

s_ ! lsnf]u|fd lk08 ePsf] kmnfdsf] tfkqmd 1C a9fpg jf 36fpg 470 ࣤ 
tfkzlQm cfjZos k5{ eGg] a'lemG5 . 

          lbOPsf], 
                 lk08 (m) = 500g = 0.5kg 
ljlzi6 tfkwf/0f Ifdtf (S) = 470 ࣤ/kgC 
                         tfkzlQm (Q) = 4700 ࣤ 
   tfkqmddf kl/jt{g (dt) = ? 
                     (Q) = mSdt 
                         or, dt = ொ

௠×ௌ
 = ସ଻଴଴

଴.ହ×ସ଻଴
 =20 

 tfjfsf] tfkqmddf kl/jt{g 20C 
 
v_ glhssf] a:t' :ki6;+u b]Vg ;Sg] / 6f9fsf] a:t' :ki6 b]Vg g;Sg] 
cfFvfsf] sdhf]/LnfO{ cb"/ b[li6 elgG5 . 
    sGe]S; n]G;sf] aLr efu jfSnf] / lsgf/f efu kftnf] x'G5 eg] sGs]e 
n]G;sf] aLr efu kftnf] / lsgf/f jfSnf] x'G5 . 
    ;xL lrq M 
 
 
 
 
 
:jefj M cfs[lt pN6f] x'G5 
         jf:tljs x'G5 
         j:t' hq} x'G5  
      -jf cGo ;xL pQ/ k|To]ssf] )=%_ 
 

 
! 
 
 
 
 
 

)=% 
! 

)=% 
 
 
! 
 
! 
! 
 
 
 
 
 

)=% 
)=% 
)=% 
 

B 

A 

2F F F 2F 

A' 

B' 
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$= 

s_ ;xL lrq 
 
 
 
   
                     aNa      l:jr 

>]0fLqmd h8fg ubf{ M 
  V = V1 + V2 + V3 = 1.5 + 1.5 + 1.5 = 4.5       

ljB't o'lg6 vkt Ö ;fdy{ × ljB't +pks/0fsf] ;ª\Vof × ;do 
                            E = P×N×T 
6ª\:6]g /fVg'sf] sf/0f M 

— a9L ljB't cj/f]w Ifdtf x'g' 
— kUng] tfkqmd (3400C) pRr x'g' 
— tfltP kl5 k|sfz lbg] x'g' 

v_ 
h]g]/]6/ ljB't df]6/ 

i) h]g]/]6/n] oflGqs zlQmnfO{ 
ljB'tLo zlQmdf kl/0ft ub{5 . 

ii) On]S6«f]DofUg]l6s OG8S;gsf] 
l;4fGt cg';f/ sfo{ ub{5 . 

o;n] ljB'tLo zlQmnfO{ oflGqs 
zlQmdf ?kfGt/0f ub{5 . 
df]6/ Okm]S6 -On]S6«f]DofUg]l6hdsf]_ 
l;4fGtdf sfo{ ub{5 . 

  -jf cGo ;xL pQ/ k|To]ssf] ! cª\s_ 
/]l8of] ahfpg k|of]u x'G5 -jf cGo ;xL pQ/_ 

! 
 
 
 
 
 
! 
 
 

)=% 
 
! 
! 
 
 
 
 
! 
 
! 
 
! 

%= 

s_ 1S2, 2S2P6, 3S23P5  
     2Na + Cl2                              2NaCl 
 
v_ sfa{g8fO{ cS;fO8 (CO2) 
 
;xL lrq agfPdf 
 
       H     H           H     H 
        |      |               |      | 
    H  C  C  O  C  C  H 
               |      |              |       |       
              H     H          H      H                  

! 
@ 
 

)=% 
 
@ 
 
! 
 
! 

^= 

s_ cfndf]lgod (Aluminium) 
       2Al + 6HCl                              2AlCl3 + 3H2 

ty:6 (Neutral) kbfy{sf] PH dfg '7' x'G5 . 
v_ l;d]G6sf] sRrf kbfy{x? M 
  r'g 9'ª\uf (CaCO3)  
    ljz]if k|sf/sf] Sn]df6f] (Al2O3SiO3) 

ydf]{Knfli6s ydf]{;]l6Ë Knfli6s 
ttfpFbf g/d x'g] / k'gM csf]{ ttfpFbf g/d gx'g] / k'gM csf]{ 

)=% 
@ 
! 
 

)=% 
)=% 
 
 

1.5v 

 

1.5v 
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cfsf/df 9fNg ;lsg] . 
k6s k6s k'gM k|of]u ug{ ;lsg] . 

cfsf/df abNg g;lsg] . 
km]l/ k|of]u (Re use) ug{ g;lsg] . 

 

! 
! 

 
;fa'g g/d kfgLdf dfq 3'ngzLn x'G5 eg] l86/h]G6 g/d / s8f b'a} vfn] 
kfgLdf 3'ngzLn x'g] x'Fbf ;fa'gn] wf]Psf] sk8f eGbf l86/h]G6df wf]Psf] 
sk8f ;kmf x'g] ePsf]n] . 

 
! 

&= 

s_ ;hLj / lghL{j b'a}sf] u'0f b]vfpg] cToGt} z'Id ljiff0f'nfO{ efO/; elgG5 
. 
vKk/leq /x]sf] kftnf] lemNnLx? kfodf6/ / P/fSGjfO8sf] aLrdf 
;]/]a|f]:kfOgn ˆNo'8 (Cerebrospinal fluid) x'G5 . 

OShf]qmfOg u|GyL OG8f]qmfOg u|GyL 
— o;df gnL x'G5 . 
— o;n] OGhfOd pTkfbg u5{ . 

— o;df gnL x'Fb}g . 
— o;n] xdf]{g pTkfbg u5{ . 

  -jf cGo ;xL pQ/sf] nflu k|To]ssf] ! cª\s_ 
v_ No's]ldof (Leukemia) cyjf Blood Cancer 
      kmfOla|gf]h]g — 3fpaf6 /ut aUgaf6 /f]S5 . 
   Unf]a'lng — /f]uaf6 ;'/Iff k|bfg u5{ . 
kNdf]g/L wdgLn] cz'4 /ut d'6'sf] bfofF e]lG6«snaf6 kmf]S;f]df k'¥ofpF5 

 
! 
 
! 
 
! 
! 
 

)=% 
! 
! 
! 

*= 

s_ cfdf / a'afaf6 cfPsf pxL k|sf/sf qmf]df]hf]d hf]8f aGg] k|lqmofnfO{ 
l;glK;; elgG5 . 
— dfO6f]l;; sf]if ljefhg 
— d]6fkm]h cj:yf 

nIf0fx? M 
— qmf]df]hf]dx? sf]ifsf] dWoefudf /x]sf x'G5g\ .  
— l:k08n kmfOj/n] ;]lG6«cf]n / ;]G6«f]ldo/x?nfO{ hf]8]/ l:k08n cfsf/ 

agfpF5g\ . 
v_  

i) PGy/ (Anther) 
ii) lkmnfd]G6 (Filament) 

cd}y'lgs k|hgg\sf] ljz]iftfx? M 
— o;df Ps cf]6f hLj dfq ;+nUg x'G5 -efn], kf]yL eGg] x'Fb}g_ 
— ;Gtfg j+zfg'ut ?kdf dfp h:t} x'G5  

     -jf cGo ;xL pQ/ n]v]df k|To]ssf] ! cª\s_ 
pGo"sf] hLjg rqm :kf]/f]kmfO6 / Uofd]6f]kmfO6 b'O{ r/0f kf/ ul/ dfq x'G5 . 
Uofd]6f]kmfO6 -k|f]yfn;_ ;fx|} ;fgf] ePsfn] gfª\uf] cfFvfn] b]Vg ;lsGg / of] 
5f]6f] ;dosf] nflu x'G5 eg] 
:kf]/f]kmfO6 -pGo"sf] la?jf_ b]Vg ;lsg] / nfdf] ;do;Dd /xg] x'Fbf k|d'v r/0f 
elgPsf] xf] . 

 
! 

)=% 
)=% 
 
! 
 
! 
 

)=% 
)=% 
 

)=% 
)=% 
 

)=% 
 

)=% 
 

)=% 

(= 

s_ b'O{ k|sf/sf] gfOl6«kmfOª\ dWo] gfO6«fO6 (Nitraite) AofS6]l/ofn] Pdf]lgof / 
To;sf nj0fnfO{ gfO6«fO6 nj0f (Nitrite Salt) agfpF5 eg] 
gfO6]«6 (Nitrate) AofS6]l/ofn] gfO6«fO6 nj0f (Nitrite Salt) nfO{ gfO6]«6 nj0fdf 
abNg ;S5 . 

 
! 
 
! 
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efp                 z'4 uf]nf] lap                z'4 rfpl/Psf] lap   
                           RR                                                        rr 
Uofd]]6x?               R                           R                          r                    r 
 
klxnf] j+z                
  (F1)                                   Rr                          Rr              Rr                      Rr 
                                     l7dfxf uf]nf]         l7dfxf uf]nf]    l7dfxf uf]nf]     l7dfxf uf]nf] 

klxnf] j+zsf 
Uofd]]6x?               R                           r                          R                    r 
 
bf];|f] j+z                
  (F2)                                   RR                          Rr              Rr                      rr 
                                     z'4 uf]nf]            l7dfxf uf]nf]    l7dfxf uf]nf]      z'4 rfpl/Psf] 

lkmgf]6fOlks cg'kft M uf]nf] lap / rfpl/Psf] lap, 3:1 
lhgf]6fOlks cg'kft M z'4 uf]nf]Ml7dfxf uf]nf]Mz'4 rfpl/Psf], 1:2:1 
v_ lsª\8d — hGt' 
   kmfOnd — s8]{6f 
   ;a kmfOnd — el6{a|]6f 
   Snf; — Dofd]lnof (Mammalia) 
   pbfx/0f — dflg; (Homo Sapiens) 

ds}sf] la?jf tf]/Lsf] la?jf 
ds}sf] u'R5] h/f (fibrous root) x'G5 . tf]/Ldf d"n h/f (tap root) x'G5 . 
kftsf g;fx? ;dfgfGt/ (parallel 
venation) x'G5g\ . 

kftsf g;fx? hfnLbf/ (reticular 
venation) x'G5g\ . 

 

)=% 
 
 

)=% 
 
 
 
 

)=% 
 
 
 

)=% 
)=% 
 
 
 
 
! 
 
! 
 
! 

!)= 

s_ — cfsfz u+uf (Milky Way) 
— kf/df0flas lqmofx?af6 lgl:s/x]sf] zlQmsf] dfqf  
— tf/fsf] lk08  
— # cf]6f 
— qm]6fl;o; 
— 7"nf 3;|g] hGt'x?sf] ljgf; ePsf] 

v_ pBf]uaf6 lg:sg] sfa{g8fOcS;fO8 / ;Nkm/8fOcS;fO8 h:tf k|b'lift 
UofF;x? kfgL;+u ldl;P/ sfaf]{lgs cDn tyf ;Nˆo'l/s cDndf kl/0ft eO{ 
jiff{ ;+u} k[YjLsf] ;txdf cfpg'nfO{ cDn jiff{ elgG5 . 

— cfFvfdf df]ltlaGb' jf km'nf] u/fpF5 . 
— 5fnfsf] SofG;/ x'g] ;Defjgf x'G5 .  

)=% 
! 
! 

)=% 
)=% 
! 
 
 
! 
! 
! 
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